C € KSAISO 90012000 CERTFED

sSeOAM

U7 | AT DT 2 A}
SEOAM MACHINERY INDUSTRY CO.,LTD.




seoAm

SEOAM MACHINERY INDUSTRY

POWER CHUCK HYDRAULIC CYLINDER

2 | www_seoam kr



INTROL

We will make a great effort to satisfy customers with self-confidence of the best.

By manufactured high quality Gears, Power Chuck & Hydraulic Cylinder, Curvic
Couplings, and Gear Reducers, The SEOAM continually make effort for customers
that they will look for SEOAM to be believed our reliable capability from customers
again and sincerely promise with customers to support products or services.

Seoam Machinery boasts the highest quality and precision product.

LISAHIBE, REAmBif.

et AR R, AFE, WEHL wEEE, AESE, IReMnEd A
SRS ARE - RBENE HOEF, AR TFRIASMAREE .
e s | LUERE e e P e A B .

B EOSEBUTEEPRLET

FBBETET, NT—F v, SHES)VE—, H-LHhy T v, ShREERE
FEEL TOHASEOAMIGRE X s ( B3 HESIINTIZ Tz BFENME L TEX S N3
BIR O — L PR S 5 EFBHERL 3

SEOAMIY ‘BEERE ¢ "SHETERID" #55->TH W £ 7.

Fuat= XRYHoZ FMS ChEfLich
R0 Thm RUMRIH

o |
2451 7|2212 HiEo2 n2i0| UT A2 4 O/t MEN MHIAS KiZsto S osHaLC
r

SPECIAL CHUCK SPECIAL CHUCK
(DRAW DOWN CHUCK) (AL-WHEEL CHUCK)

CHUCK |3




se0CAm

HISTORY OF SEOAM

1978.02.
Establishme nt of Hwache on Gear WorksCo.L 1.
BRARRA S
BR+ 7 TEUREH BT
37|03 AT A AL M
1980. 04.
Merge d with Hwacheon Chuck Co., Ltd.
St RFARREHE
ERF v v o TR RN
3l HChuck SH(F)E+ &4

1986.07.

Made a contract of tech nica | cooper ation with Howa machinery. Ltd.
SHEHOWATIM BZEEA SIESE

HA& HOWA () IR AEAZLE)

UEHOWASA(F) o 7| 2= Ao

1992 02.

Exported Power Chuck to Howa machinery Ltd.
HHFEE OEBEHOWAYI

N ~Fyy 9FHRK HOWAAEGH
Power Chuck ZE2HOWA &

1995.01.

Moved to new factory in Hanam Industria| Complex.
it EARLUESR 5T

/v TEE TS

SIHEERZE SFLAS 0|

1996.12.

Achieved CE Mark.

5 EOMC E L

3-Av AREEE C.E - RS

Europe Q81 C.E Mk &S

1997.12.

Appointed as an excellent company for e cooperation of labor & employer.

T B ENEIRHN BbR S (553 5K E)
HRBNERIEREE (8 AR)
CAREY 2|Y MY (=32

1998. 09.

Achieved 1SO 9001 cer tificate.
2150 9001 EF RN
ISO 9001 53T Fri5

IS0 9001 QIZ &S

1998. 11.

R&D center established.
R&DA Bz

= N

7| oA ME

1999.01.

Exported Power Chuck to ge rmany.
HHFEL DERE

Power Chuck® F1 v ~8gth
Power Chuck SYU4&

2000.10.

Changed company name into “SEQ AM’
08 B AL e it
ERETHS SEOAM [2METF
SLE7I00IM M7 ASRH(F)ZE A HE
2001.04.

Exported Power Chuck & Cylinder to USA.
PN FERN DM L OEEE

Power Chuck & Cylinder 2AE gt
Power chuck & Cylinder 0| 24=&

2001.05.

Appointed as an excellent medium & smallsized company by Prime Minister.

SR ERE B RT O e A e
15 Ul AERE (ERREAE)
2 IVIWNY (=752

04 | www .seoam kr

2001.11.

Awarded a prize by president in commemor ation of TRADE day.
EH B R EE %ﬁﬁ A

&2 0 BARY

2ol T BE A £ a

2003. 05.

Exported Powe rchuck & Cylinder to China.
INENERBLEOZPE
Power Chuck & Cylinder 2FHE~HH
Powerchuck & Cylinder 3=34&

2004. 01.

Exported Powerchuck & Cyinder to South Africa.

) FER B H O 2/ EERE

Power Chuck & Cylinder® Fg7 7!) HEFE B
Powerchuck & Cyiincer HolZ2p|3sl= 45

2004.11.

Awarded trophy for exports over US $3Milii ons and

awarded recognition from Korea president

SRR ESAE O EMER 130 05 eIkl AR Z 1
REEEAREERE F030077 1 Jtim&LF‘Iﬁ
CHHO| AL CH S 4 4+ H 3002HE EE &4

2004.12.

Awar ded Materials and Compone nts Technology pr ize by Minister
of Commer ce, Industryand Erer gy.

FIRL R ED e REpabc e B MR R R 2

EXERARE (BrEtfih 28

LARFRIE FEMEEAT 7|28y

2005.11.

Awarded trophy for exports over US $5Milli ons and

by Minister of Commerce, Industy and E neray .
SRR ASONETHON L, P IAE K B
BZ0 Hi 0071 FL BN B R0 B ER AR H5E
SO 50022 ~EE 4 W ARIEZTA 24

2006.01.

Developed high speed Com pensai ng C huck & Hydraulic C yiinder (8,000 rpm)
T &B U A B i sl 70 2 L (8,000rp m)
Llujjﬁﬂaﬂﬁﬁﬂ v H8EE Y 4~ BIR(8,000mm)

A BAS N4H g LA J)EH(8,000rpm)

2006.03.

Awarded amodd taxpayer prize by Minister of Finance and Econ omy
SIS BRL I (B FrEPKE)

TR B B (HERAR)

SHEARNY SAMEZHEY )

2006.12.

5paentsregsteredfor Campensatng Chick etc.Korean Inelecttal PropertyOfice)
RS R U R FR F 5 ER (R RIT)
KRB0 RO HGEEN 7= F » wﬂbs{#mﬁ TS YY)
Atto] 2N HAY THH 4 52U SHES(SHE)

2007.04.
Approvd components &materal campary cerifcate byMinster of Commerce,
Industry and E nergy
RIEEAE B:.:MH’%HM(FM HKE)
PRI EERERE)

DFEIEI R

SEAM METIY R F (AR

2008. 11.

Achived Single PPM certificate for Power Chuck and H ydraulic C yii nder
g PPM @ BME G EF 2 8 b EGTD

Sy PP MBEREIS( 7-F ¢ v O QHEYY v4 -)
AZPPM EXAUZ AS(FUA & FUMEH)

2011.12.

Stock listed a KOSDAQ
KOSDAQLET
KOSDAQ_+15
KOSDAQ A%




CONTENTS

@ OWER CHUCK / 08

‘YDRAULIC CYLINDER / 22

@ANUAL CHUCK / 32
@ PECIAL CHUCK / 38

AFFILIATE &5

=] E:FEEEN
HIAGEON IACHNETOLCOLTD BSRTELH

| == I & 87| A=A A
HI ACHEON MACHNERY 00, LTD. ot

| == | ejuloj AZ2/o|F AlgIAL
TPS KOREACO.LTD. TPSKOREAHT &3

CHUCK | 05



OWER CHUCK & HYDRAULIC CYLINDER

Based on the technical cooperation with HOWA in Japan, we developed power chucks and hydraulic
cylinders for the first time in Korea. On top of that, finally, we achieved technology independence by
developing world-class SEOAM SERIES, which brings us significant improvement in technology and
paves the way for the world-class company.

Small but powerful! Elaboration to go with that power.
The greatest work created

with the know-how of 30 year’s history
SEOAM CVLINDER SERIES!

It will give you the best satisfaction

SHEE FHIPEX, RED LI TR A
SOF IR A P AIE PR T AR =Ll
o [WEHER =AM BENEK.

B CTH O CozE3 iz PlE>HEH
0EOBELOIIEE » TUEALBRSOEME SEOAM -
IV vE—y ) =2 sRRERNGE PR LT

X9 2 8,2 85 o2l Fud
301 9 Afe] Y42 Elo} EHYAIZ] 5 T10] ZA
SFOAM CYLINDER SERIES!

nZiofe 2H A UHES ERLUCH

[ i 30
URE EELNTTE]

SEED

6 | www .seoam kr




5 B AHOWAPHTR ASIFME LI T3 NFENE il % ST
H Y R SEOAMBTIF fa, RATE SISV AL L8 B U IR HS
AW EERE, AARBYIRSRA R B RE )

HAEHOWA & ORFAZETCEHUN D - Fro ot RV v & - 232 cRMBERELE L.
BEL N B O BHORRIERRENE) T2 )X K19-Fyv g,

HEY Y& - 2 HERIRL & L1

U2 HOWA 7912] 7|2 M2 TSI =0l QUrARIN S 21 5 X2 s,
0|2t SHE 7|22 BUYE Lo AR

MAIZ 3 4Z0| SEOAM SERIES TH9J &, S AIRIH E SX| N LSIHALICH.

We created SEOAM CHUCK SERIES
to be the best in the world

with our skills and experience built
during a quarter century!

You can check its quality yourself.

LA RNEA, FEHER,
ARt R —RMSEOAMFERT. EdE
JUEMAFTIRP, BTN —BEASPRUKA®.
ETUFRRTFLT)

7= @ R a8 5.

S0EMER L ENHEREEZ e tRREE2 BIE L E
AP SEOAM IT—2F v v 4ol =X COQEZCH
TR Hen

304 S0t gote Jle 1t S HigoR
A 538 SEES EMAZ

SEOAM CHUCK SERIES!

1 EES NF UK FAAL




| POWER CHUCK : STRUCTURE & PART NAME |

CAH-CGH [ | - [ ][]

Chuck Size

Blank [~ ®Z& / Standard / fnER / {28
A [~ OIZE} EFY / Adapter type / BEREEFE / 747 4t %
T —2-& EI / 2-jaw type / 2-jawFhzk / 2JTFF

B_QD_Y\ MASTER JAW /JAW NUT TAP JAW
wl | g

DRAW_SCREW

. J

Chuck Size

Blank [~ =% / Standard / T / {24
A — OIEEL EFRl / Adapter type / BEERE / 747 AffE
TY 2-% Bt/ 2-jaw type / 2-jawFbk / 2JT0¥

MASTER J&' /Mﬂ

ORAW TUBE TOP JAW

L Tm —

QVER
L | gl WEDGE_PLUNGER
DRAW SCREW -

.‘=| ......

. J

8 | www .seoam kr



[ HYDRAULIC CYLINDER : STRUCTURE & PART NAME ]

OPEN CENTER HYDRAULIC CYLINDER : YAH/YGH/YSH/YSGH

Cylinder Size Blank |:Standard
- CA '— Coolant Collector
Cylinder Model A Big Bore (EE* ’m&ﬂ | {Z5Y,
Gl Great Bore (I 2E7) / AOBPZEEL | ABEREZ
Si— Slim-Body Big Bore (£8Y) / ENEL XY 20
SG- Slim-Body Great Bore (52 IHEE) / FENAOBHREE ( 2V 2K ERE

HOUSIN HECK VALV RELIEF VALV

Cylinder Size

Cylinder Model S [~ EZ% / Standard / #riE8! ( {25F
SC [~ Ha"e WA / Check valve type / HHRBET ( Fzv 93 LT REFF
SP - 2EAYR x*7|; / Proximity switch type / FIMFIRI  3RER 1 v FHIT 1 BIHER
ST MIWE WA ZHAYX B35 / HREFEH + THRARY (
check valve type + proximity switch type /

Fzv 93 NT R + IR 1 v FEUT AIRERY

. J

CHUCK |9



ADNHD YHIMOd =i

BIG BORE POWER CHUCK
ABANNFR/BEPZEN 0 -F ¢ v 4/15S3Y 19U

1 - High Gripping Force By shamly increasing dynamic gripping force, work efficiency
and safety have been greatly improved 2 - High Speed Strong gripping force and
safety of performance are secured by optimal design, and high speed rotation is
achieved. 3 - Light Weight Equipmentload has been reduced by weight reduction, and
efficiency has been increased for fitful work and for both forward and reverse
operations. 4 - Durability Heat treatmentis performed to alloy steel, and high accuracy,
high strength and high durability are realized by improving lubrication system.

1. %E035  BYRERESEENNGAETFUERT2WERNE 2. BEH : AR
WHEARTBENNRERT BN LY. 3. 285 FEANEERE BIFENERINER
EXRNBEAARS. 4 WER: K FERASHRIENEENIME AUNBHARY.
HHEERRE, SEENSHES.

1. BdtiEh 2. BERLA 3+ BE(LER 4- HAMER

1-ze mote 2.7:28 N8 3-ZZ8 MY 4074 g8

Dynamic Gripping Force /Z132 5 /801N 4 5 7/ S8 otot=

3000 T ﬁ 18000
E | CAH-12
= 2500 = — — I = 16000 S
E’r T S K ~_ CAHAS g 14000 = _“\
o - ; —
w200 casto] ] " 120]] TP, leani
% 1500 |—+ .‘Z“‘H____\. m 0000 —— 1N
i 8000 Ao g =
1000 6000 ————r o o
500 I- e {

1000 2000 3000 4000 5000 6000 7000 8000

B| = (rpm)

1000 2000 3000 4000 5000 6000 7000 S00 1000 1500 2000 2500 3000
&|H == (rpm) #H == (rpm)

Specifications /FF&/ iR/ ALY E

Spec. Aty

Mod el & Al
CAH-05
CAH-06
CAH-08
CAH-10
CAH-12
CAH-15
CAH-18
CAH-21
CAH-24
CAH-32

Spec. Aty

Mod el & Al
CAH-05
CAH-06
CAH-08
CAH-10
CAH-12
CAH-15
CAH-18
CAH-21
CAH-24
CAH-32

Thru-hole ~ Jawstroke o oo or e Gripping Dia(Extend gripping) Max. permissble

| Spindle nose . : =g = ;
s MO, azB(ay) parsaey EeMissa TSmO L
mm mm Max Z|c} Min |4 KN(kgf)
1AHO05 - 33 54 10 135 10 175(1784)
1AHO6 A2-5 46 015 13 169 13 25(2500)
1AHO08 A2-6 52 7.6 18 210 1 40(4080)
1AH10 A2-8 77 8.5 20 254 31 50(5100)
1AH12 A2-8 9N 10.2 24 304 34 58(5916)
1AH15 A2-11 118 10.6 23 381 30 71(7240)
1AH18 A2-11 118 106 23 450 30 71(7240)
1AH21 A2-11, 15 140 10.6 23 530 87 90(9177)
1AH24 A2-11, 15 165 104 23 610 110 90(9177)
1AH32 A2-15, 20 240 18 34 800 152 100(10193)
Max. static Maxpermissible Weight GD?
gripping force speed (With sandad softjaws) Moment of Matching oylinder Matching hard jaw Matching soft jaw
A Y™mtoty A0 MBS ML zypzize 533 in ertia =z HE5ER HEAETR
KN(kaf) r.o.m(min™") ka N-m (kaf.m)
36(3671) 7000 6.7 0.7(0.071) YAH-05 HJ-04A1 SJ-05T1
63(6426) 6000 125 2.26(023) Y AH-06 HJ-06T 1 SJ-06T1
94(9597) 5000 223 6.67(068) YAH-08 HJ-08T1 SJ-08T1
125(12740) 4200 345 12.84(1.31) YAH-10 HJ-10T1 SJ-10T1
147(15000) 3300 553 28.71(2.93) YAH-12 HJ-12A1 SJ-12A1
180(18355) 2500 120 89.14(9.09) YSH-15 HJ-15T1 SJ-15A1
180(18355) 2000 164 1746(17.8) YSH-15 HJ-15T1 SJ-15A1
234(23861) 1700 235 351.1(35.8) YSH-15 HJ-21B1 SJ-21A1
234(23861) 1400 293 651.2(66.4) YSH-15 HJ-21B1 SJ-21A1
240(24464) 1200 530 5984(61) YSH-21 - -

010 | www _.seoam kr



Outward Drawing/4 IR/ AR 2 & =

. S a
. v SERRATIONPITCH 1.5 e - -
\\\\ \\l
N
- 1
i :|
= _c! ral 1
i
H sl (@)
i ] s
e e R | e e m
1 =
Pl.s 1 z
—— _%- n
-
- ——: =
o B S
A
K F
1]
B
Dimension/R~F/SZE/X+E
Item2S B c F G H J K L M Nmax Nmin
Model& Al
CAH-05 135 60 110 4 9% 826 3 3MI0 15 14 %65 238
CAH-06 169 80 140 5 116 1048 46  6-M10 12 20 385 307
CAH-08 210 91 170 5 150 1334 52 6-Mi12 15 25 M7 379
CAH-10 254 100 220 5 190 1714 77 6-M16 17 30 545 503
CAH-12 304 15 220 6 190 1714 91 6-M16 18 30 674 623
CAH-15 381 133 300 6 260 235 18 6-M20 30 43 82 76.7
CAH-18 450 133 380 6 320 235 18 6-M20 30 43 82 76.7
CAH-21 530 140 380 6 3302 3302 140  6-M22 34 60 985 932
CAH-24 610 149 380 6 3302 3302 165 6-M22 32 60 1084 1032
CAH-32 800 150 520 6 4636 4636 240  6-M24 31 38 1535 1445
em&S O max Omin Pmax Pmn Q R s T Umax V w X Y z
Model& Al
CAH-05 1975 775 1 9 23 10 20 2 MOXI5 3-M6 45 20 26 54
CAH-06 23 10 12 -1 3 12 19 2 Ms5X20 3-M6 60 20 33 72
CAH-08 27 10 165 -15 39 14 205 2  MBOX20 3-M6 66 30 39 95
CAH-10 31 12 95 -105 44 16 27 2 MB5X20 3-M8 94 30 46 110
CAH-12 42 12 10 -14 50 21 28 25 MI00X20 3-M8 108 30 518 111
CAH-15 438 183 11 -12 62 22 39 5 M30X0 3-M10 139 60 70 165
CAH-18 738 183 11 -12 62 22 39 5 M30X0 3-M10 139 60 70 165
CAH-21 875 215 1 -12 65 25 39 5 M155X30 3-M12 170 80 73 180
CAH-24 1175 215 20 -3 65 25 40 5 MI75X30 3-M12 187 80 73 180
CAH-32 1906 195 29 -5 75 255 40 104 M250X30 3-M12 260 80 836 160

Model Description/Zl2y5BR/ A HE R R/EAHS HA

CAH O -0 CGH I -0 CAS O -0 AO

cevspase  ssessessswssess oy wrree  esessessessesse Wrree  ssessessessease

Chuck Size Chuck Size i  Chuk Size SpindeNose
Blank | Standard Blank | Standard Blank | Standard
A | adapter type A | adapter type A | adapter type
T | 2-jaw type T | 2-jaw type T | 2-jaw type

CHUCK | 011



ADNHD YHIMOd =i

BIG BORE POWER CHUCK (SHORT TAPER)

REA N2 (R SFPZEL T —F ¢ 94 (TR7 2P/ 1553 LK (OFHE 24

ogh

)

1 High Performance and High Accuracy Adapter is attached to CAH power chuck.
Performance and quality are identical CAH and its parts are compatible each other.

2 - Spindle Direct-Mounting Type International standard A-type spinde spedificationis
applied to the mounting face, so it is possible to directly attach to short taper spinde. 3 *

Shortening of changing time Time of changing chuck can be minimized as run-out
accuracy is kept upon attachment 4 « Convenient Attachment Option Because
adapters suitable to various spinde specifications can be manufactured and attached, the
scope of applicationis extensive.

1148847, IRE S : CAHEFERHCAHE 2 F Nl DT EBTE, RItAMAL 8 5CAHR

B-¥ ERASEREM. 2 - BETEE TERRRANS BN A AT MRt REL 3 - 885
f - SERHt TESEN AN, AEEHETHRERR 4+ RT7RER | TRI%EZ=58HIE

P EHEET A TE &R EE.

1-Blige BiEE 2. 2L 1L

1-3M85 .88 2

.« ATE

—_——=

B 3« HyE ARSEE 4 - @ RmTU4T v ay
Fze 3 - WHAIZE BE 4 - RESM 80|

Outward Drawing/#M 2L /AAE 2 € =

~U_ SERRATIONPPITCH 1.5
\ \

l—q

Dimension//"~H/ &/ 4+ &

llem&=
Mod el& 4] A
CAHA-06 169
CAHA-08 210
CAHA-10 254
CAHA-12 304
CAHA-15 381
CAHA-18 450
CAHA-21 530
CAHA-24 610
CAHA-32 800

B
90
103
113
121
149
149
161
170
186

C D E
140 82563 15
170 106375 17
220 139.719 18
220 139.719 18
300 196.869 22
380 196.869 22
380 285.775 27
380 285775 27
520 285.777 42

F G
5 116

H
1048
1334
1714
1714

J K L M Nmax Nmn Oma Omin PmaPmin Q R S T Umax V W X Y Z
46 6-M10 16 20 335 307 23 10 27 14 31 12 19 2 M55X0 3-M6 60 20 33 66
52 6-M12 18 25 417 379 27 10 335 155 39 14 205 2 M60X20 3-M6 66 30 39 86
77 6-M16 24 30 545 503 3t 12 275 75 44 16 27 2 M85X20 3-M8 94 30 45 108
91 6-Mi16 25 30 621 567 45 15 28 4 50 21 28 2 Mi00X20 3-M8 108 30 51 111
1186-M20 28 43 82 767 438 183 33 10 62 22 39 5 MI30X0 3-M10 139 60 70 165
1186-M20 28 43 82 767 738 183 33 10 62 22 39 5 MI30X0 3-M10 139 60 70 165
140 6-M22 34 60 985 932 875 215 38 15 65 25 39 5 M155%30 3-M12 166 80 73 180
165 6-M2 35 60 1084 1032 1175 215 47 24 65 25 40 5 MI75X30 3-M12 187 80 73 180
240 6-M24 31 38 185 14451906 195 71 37 75 255 40 104 M250X30 3-M12 260 80 836 160

Specifications /A& /R AL E

SpecAlY

Model Al
CAHA-06
CAHA-08
CAHA-10
CAHA-12
CAHA-15
CAHA-18
CAHA-21
CAHA-24
CAHA-32

Spec AIY  Max. statlcg ripping

Model& Al
CAHA-06
CAHA-08
CAHA-10
CAHA-12
CAHA-15
CAHA-18
CAHA-21
CAHA-24
CAHA-32

Order NO. Spindle nose NO.

s

1AHAQB
1AHAO8
1AHA10
1AHA12
1AHA15
1AHA18
1AHA21
1AHA24
1AHA32

’é*@.m“a KN(kgf)
63(6426)
94(9597)

125(12740)
147(15000)
180(18355)
180(18355)
234(23861)
234(23861)
240(24464)

12 | www.seoam kr

Thru=hol Jaw stroke Plunger stroke  Gripping Dia(Exdend aripping)  Max. perm issible
EyA) (Danekr) (Damekr) SN AER3 tord (2| gutemm input force/12
T BAESZEA)Mm  FAEZI (ZH)mm mm Max ZICH Min &4 AZICE KN(K)
A2-5 46 55 13 169 13 25(2500)
A2-6 52 7.6 18 210 11 40(4080)
A2-8 77 8.5 20 254 31 50(5100)
A2-8 91 102 24 304 34 58(5916)
A2-11 118 106 23 381 30 71(7240)
A2-11 118 106 23 450 30 71(7240)
A2-11, 15 140 106 23 530 87 90(9177)
A2-11, 15 165 104 23 610 110 90(9177)
A2-15, 20 240 18 34 800 152 100(10193)
Maxpermisshle speed ~ Weight (With standard GD? Matching cylinder Matching hard jaw ~ Matching soft jaw
A
Tommn)  AEEEEMlG Nelwia) %s4Ed | Wsdem  §ssez:
6000 137 2.45(025) Y AH-06 HJ-06T1 SJ-06T1
5000 236 6.90(0.7 1) YAH-08 HJ-08T1 SJ-08T1
4200 40 12.65(1.29) YAH-10 HJ-10T1 SJ-10T1
3300 64 30.00(3.06) YAH-12 HJ-12A1 SJ-12A1
2500 127 93.55(9.54) YSH-15 HJ-15T1 SJ-15A1
2000 178 187.30(19.1) YSH-15 HJ-15T1 SJ-15A1
1700 246 36283(37.0) YSH-15 HJ-21B1 SJ-21A1
1400 304 660.94(66.4) YSH-15 HJ-21B1 SJ-21A1
1200 547 5984(61) YSH-21 - -



CAHT

2-JAW BIG BORE POWER CHUCK
FBAFNE NER/2 2 ERATZEIND —F v 94/ 2-52 IEEZE ItYH

Outward Drawing/4 M EUE/ARIE) 2 & =

U _ SERRATION PITCH 1.5

Y
P I

| T

™, ' AN I
| N
]— T T
1;\—‘:\1% = 14—
s H |
= 41—t
‘ o =1
¥
T == |
|
¥
<lula|T i
L ] T = _._l
' L
et
'
L
x/ |le
L]
8

1 - Clamping of Irregular Work It shows excellent performance for irregular
work such as square bar, especially, for manufacturing irregular materials
using a bar feeder. 2 - High Performance and High Accuracy It has the
same structure as CAH power chuck, and guarantees excellent performance
and quality. Attac hment part and changable parts are compatible each other.

3 - Spindle Direct-Mounting Type International standard A-type spindle
specification is applied to CAHTA type, so it is possible to directly attach to
short taper spindle.

1 RETHNTH : REEEANTHE LN, BritEftgy. tEER A TReER RN
BV AN TEE. 2. HET BES  ttFASCAHEFALEE, BItHEEREN
MRS, BNHRESM BERE. 3. BERTRE | TERTRERS e AR T4
BT L.

1. SRTIHCE 2. Bl BIFE 3+ 2L FIERE

1-0823%8 B 2. 245 2YE 3-AHS IBY

Dynamic Gripping Force rESc BN 57/5% 1oz 42

g 8

S5 mo® (kef)

R

g

1000 2000 3000 4000 5000 6000 7000
/7% (pm)

Dimension/R~/<EEK/ A+ &

mde@,'_\'f'"ﬁ A B C F G H J K L M NmxNmnOnx OmnPma Pmihn Q R S T Umax V W X Y Z
CAHT-06 169 80 140 5 116 1048 46 6-Mi0 12 20 33.5307 28 10 12 -1 31 12 19 2 M®»X20 3-M 60 20 33 66
CAHT-08 210 91 170 5 150 1334 52 6-Mi2 15 25 41.7 379 27 10 165 -15 39 14 205 2 MEOX20 3-M 66 30 39 86
CAHT-10 254 100 220 5 190 171.4 77 6-Mi6 17 30 54.5 503 31 12 95 -105 44 16 27 2 M&®X20 3-8 94 30 45 108
CAHT-12 304 115 220 6 190 171.4 91 6-Mi6 18 30 62.1 567 45 15 10 -14 50 21 28 2 MI00X20 3-8 108 30 51 111
CAHT-15 381 133 300 6 260 235 118 6-M20 30 43 82 767 4375 1825 11 -12 62 22 39 5 M130X20 3-Mi0 139 60 70 165
Specifications /Alt&/ HHEE/ A S E
Spec. At Spinde nose Thru-hole Jawstroke  Plungerstroke  Grioping Dia(Extend gripping) - Max. perm issible
Oédg'ru-'l\lio. NO. (Diameter) (Diameter) ZHHYAERT (el Zafemm input force/ 512
ModelAl = FE04 #HEH(EF)mm  ZAERIEH)IMm mm Max Z[CH Min &[4 ARICE] KN(Kkdf)
CAHT-06 1AHTO06 A2-5 46 55 13 169 13 16.6(1700)
CAHT-08 1AHTO08 A2-6 52 7.6 18 210 11 26.6(2720)
CAHT-10 1AHT10 A2-8 77 8.5 20 254 31 33.3(3400)
CAHT-12 1AHT12 A2-8 91 102 24 304 34 39(3995)
CAHT-15 1AHT15 A2-11 118 106 23 381 30 47(12236)
Spec At Max stticgrippingforce  Maxpermissible speed  Weght Wi siencardsof aws) GD? . : ) .
50 FHfo HINSHHS  FERIEIM  Momeniofnetia Mo ee ANCET Mﬁ%‘f;ﬂ?”
Model& Al KN(kgf) rp.m(min~') kg N- o (kgf. ) Tess net==
CAHT-06 42(4284) 6000 12.3 2.20(022) Y AH-06 SJ-06T1
CAHT-08 63(6398) 5000 21.7 6.86(0.70) YAH-08 SJ-08T1
CAHT-10 83.3(8493) 4200 337 12.55(1.28) YAH-10 SJ-10T1
CAHT-12 100(10200) 3300 51 26.47(2.7) YAH-12 SJ-12A1
CAHT-15 120(12236) 2500 115 87.25(8.90) YAH, YSH-15 SJ-15T1

CHUCK |13

IDNHD 4IMOd ==



ADNHD YHIMOd =i

GREAT BORE POWER CHUCK
BARIHNFE/ABREFZE: 7 -F v v 4/ UEZ 538 194X

1 - Enlargement of Through Hole Much larger Through Hole is the biggest sizein the
same grade, which enables broader manufacturing such as bar feeder work. 2 - Light
Weight Equipmentload has been reduced by weight reduction, and efficiency has been
increased for fitful work and for both forward and reverse operations. 3 « Hight
Performance and High Accuracy It has the same structure as CAH power chuck, and
has excellent performance and quality. Attachment part and changable parts are
compatible each other. 4 - Spindle Direct-Mounting Type International standard A-
type spinde specification is applied to CGHA type, so that it can be directly attached to
short taper spindle.

1+ BRREH : HFEEAMEEFEANEN, BItERAEEE 2. I HetanT.

2- 285 FEMEERE RAHFENZRINEROERNBEAAES. 3 Mok, BE
S:FESCAHEFESHER REtRAHNENUNRE, AltREgst AaREY.

4 BERTRE  UERTRANSEMTEAR T AN ER T RE L.

1- BEHIA 2-BELSH 3.5l BIgE 4- 2L FIERE

1-25Z &0 2- 328 MY 3. M5 THE 4- A

H3y

Outward Drawing/ B/ 2 & =

Q
U v SERRATIONPITCH1S =
l 14000
N S @ - S| I |
. ’ 12000 —1
i o = |
Sy i g_' 10000 |-——
l i 1 \_!_/ 8000 i
selszlzkl T i— — At T : =
& 2 6000 ——F ==
B3 E—
OGHAO6 1
4000 k ==
> | =)
1000 2000 3000 4000 5000 6000 7000
« e | #ES (pm)
L
iz 8

Dimension/R~/<EHR/A T &

wege ™ A B C F H J K L M NmxNnnoOmx OmnPma Pnihn Q R S T Umax V W X Y Z
CGH-06 170 81 140 5 1048 53 GMO 16 20 37 3424 21 8 12 -1 31 12 19 2 MEOX0 3-M6 66 20 335 72
CGH-08 210 91 170 5 1334 66 M2 17 25 462 424 28251025 7 -11 39 14 27 2 M5X0 3-M6 80 30 39 95
CGH-10 254 100 220 5 171.4 82 GM6 17 30 5627 522 31 12 95 -105 44 16 27 2 MIOX0 3-M8 98 30 45 110
CGH-12 315 110 300 6 235 103 6-M0 50 30 6864 6354 45751375 8 -16 49 21 28 25 MI1220 3-M10 124 66 513 111

Specifications A&/ AL B

Spec. At Spinde nose Thru-hole Jaw stroke Plunger stroke Gripping Dia(Extend gripping) Max. perm issible
o tets NO. Deneler) ~ (Damaen SHH AEza  HZEZmeimm ot foroe/ 518
Mode&iAl - FEFZ HSZ(EZImm ZAERIEAMm mm Max Z/cH Min Ela  ARICE KN(kd)
CGH-06 1GH06 A2-5 53 55 13 169 13 25(2550)
CGH-08 1GHo8 A2-6 66 7.6 18 210 1 38(3900)
CGH-10 1GH10 A2-8 82 85 20 254 31 50(5100)
CGH-12 1GH12 A2-11 102 102 24 315 45 55(5610)
Spec.AlY i M i ' 2
Maxsidicgippingforce  Maxpermissblespeed ~ Weght (With stendard GD ) ) ) . ) .
Ao mmor  ATASIES  wims) 59 (EE Momeniofnetia as ol MATHE AW Matcing softjaw
ModeBiAl KN(kgf) rp.m(min”)  AZE ZE3 kg N (kaf.m) Tess TS0= Tet==
CGH-06 60(6120) 6000 19 2.26(023) YSGH-06 HJ-06T 1 SJ-06T1
CGH-08 94(9597) 5000 23 5.59(057) YSGH-08 HJ-08T1 SJ-08T1
CGH-10 120(12240) 4500 32 12.83(1.31) YGH-10 HJ-10T1 SJ-10T1
CGH-12 145(15000) 3000 48 2.95 YSH-15 HJ- 12A1 SJ-12A1

14 | www _seoam Kkr



GREAT BORE POWER CHUCK (SHORT TAPER)
BB R (@) KBREPZEL T 7-F v v 5 (787 2-7) /1252 535 TR (O £43)

1 - High Performance and High Accuracy It has the same structure as CGH
power chuck, and has excellent performance and quality. Mounting face and
changable parts are compatible each other. 2 - Spindle Direct-Mounting
Type International standard A-type spindle specification is applied to Mounting
face, so that it can be direcity attached to short taper spinde. 3 - Shortening
of changing time Chuck-changing-time can be minimized as run-out
accuracy is kept upon attachment 4 - Convenient Attachment Option
Because adapters suitable to various spindle specifications can be
manufac tur ed and attached, the sc ope of application is extensive.

1Mty BES RS CoHE 2SR, RIHREHMIRNRE, AtfEs
H$HEEREH. 2 - BT  TERRRAENCERMEALIUMEETRE L. 3. 1K
7 ERHMHTERENHERN, AREETMRERR. 4 @BT7RER  TAI%EE:
Z5ESTEMENEHES, ¥ ATHRAER

1.5l BFE 2- 20 VIERE 3 EREMERE 4 @nmus7y sy

1.-34

orr

‘IHE 2-AHES NEH 3. DAML BE 4. 233M 0]

Outward Drawing/4} EUER/ARIEY @ & =

SERRATION PITCH 1.5
SEFRRATGREIEA TS

L]

[

(51}
<[4
a6
2H
2] 4]
@)

Dimension/ R~/ #F/ A+ &

vt "® A B C D EF G H J K L M NmxNmnOmaxOmn PnaPmn Q R S T Umax V W X Y Z
CGHA-06 170 91 140 82563 15 5 116 1048 53 g-Mi0 16 20 37 3424 21 8 27 14 31 12 19 2 MEOX20 3-M6 66 20 335 72
CGHA-08 210 111 170106375 26 5 150 1334 66 6-M12 21 25 462 424 23,2510.25 33 15 39 14 205 2 MMBX20 3-M6 88 30 39 95
CGHA-10 254 113 220139719 18 5 190 1714 82 6-Mi6 24 30 5627 522 31 12 275 75 44 16 27 2 MOX20 3-M8 98 30 45 110
CGHA-12 315 126 300 196869 34 6 260 235 103 6-M20 28 30 68646354 45751375 30 6 49 21 30 25 Mi12X20 3-Mi0 124 66 513 111

Specifications /HH&/ R/ ALY E

Spec At Spinde nose Thu-hoe  GwsrckelDianer)  Plunger stroke  Grioping Dia(Extend gripping)  Max. perm issible
02”’;{,1@' NO. (Diameter) FAEz3  EBEM AE23 a}osZ (2l Zmehmm nput force/3I8
Model8iAl B 597 BEAIAnm (8 mm Max Zf MinEa  ARICE! KN(kg)
CGHA-06 1GHA06 A2-5 53 55 13 169 13 25(2550)
CGHA-08 1GHA08 A2-6 66 7.6 18 210 1 38(3900)
CGHA-10 1GHA10 A2-8 82 85 20 254 31 50(5100)
CGHA- 12 1GHA12 A2-11 103 102 24 315 45 55(5610)
SpeCAtY yaysidicaippinaiorce  Maxpermissblespesd  Weidt (Win standad GD? o : ; : :
SdgEmoE  HTABHE:  wtlad/BBEE Momeniofneta Cmgaony Malohng fard v g
Model 3 Al KN(kd) rp.m(min’) AZE FF3H kg N-m (kaf.m) Te=s SIS Tesm =
CGHA-06 63(6426) 6000 137 245(0.25) YSGH-06 HJ-06T1 SJ-06T1
CGHA-08 94(9597) 5000 236 690(071) YSGH-08 HJ-08T1 SJ-08T1
CGHA-10 120(12240) 4500 40 1265(129) YGH-10 HJ-10T1 SJ-10T1
CGHA- 12 145(15000) 3000 55 295 YSH-10 HJ-12A1 SJ-12A1

CHUCK | 15

IDNHD 4IMOd ==



CLOSED CENTER POWER CHUCK
I NFEEEPEEAD - F v v o/ TESHY W9

S
m
o)
@)
L
a
{e]
~ R Order NO
Model 3 A Al
CAS-04 10104
CAS-05 10105
CAS-06 1AS06
CAS-08 1AS08
CAS-10 1AS10
CAS-12 1AS12
CAS-15 1AS15
CAS-18 1AS18
CAS-21 1AS21
CAS-24 1AS24
CAS-32 1AS32
CAS-32HC 1AS32HC
CAS-40 1AS40
CAS-40 HC 1AS40 HC
CAS-50 1AS50
CAS-50 HC 1AS50 HC
CAS-63 1AS63
CAS-63 HC 1AS63 HC
CAS-80 1AS80

Spec.AF  Max stdic gipping force
2|t = mlots

Mode& 4] KN(kgdf)
CAS-04 12.1(1224)
CAS-05 17.7(1791)
CAS-06 63(6426)
CAS-08 80(8160)
CAS-10 115(11730)
CAS-12 156(16014)
CAS-15 248(25391)
CAS-18 248(25391)
CAS-21 272(27838)
CAS-24 272(27838)
CAS-32 240(24490)
CAS-32HC 214(21916)
CAS-40 361(36836)
CAS-40HC 320(32653)
CAS-50 361(36836)
CAS-50HC 320(32653)
CAS-63 320(32653)
CAS-63HC 358(36600)
CAS-80 390(39800)

» Short taper mount

o
SpecAte Order NO.
Model& 4] SElE

CAS-15 A8 1AS15A8
CAS-15 A1 1AS15A1 1
CAS-18 A8 1AS18 A8
CAS-18 A11 1AS18A1 1
CAS-21 A1 1AS21 A1
CAS-21 A15 1AS21A15
CAS-24 A11 1AS24 A1 1
CAS-24 A15 1AS24A15

Spec. AF2F  Ma.static gipping force Ma x.permissible speed
E|

o M= ot 2

Mod el& 4 KN(kgf)
CAS-15 A8 147(14876)
CAS-15 Al1 147(14876)
CAS-18 A8 147(14876)
CAS-18 Al 1 147(14876)
CAS-21 Al 194(19632)
CAS-21 A15 194(19632)
CAS-24 A11 194(19632)
CAS-24 A15 194(19632)

16 | www _.seoam kr

I

Spindle nose NO.
EE R

A2-5
A2-6
A2-8
A2-8
A2-8, 11
A2-8, 11
A2-11,15
A2-11,15

Max.permi ss ble speed
A0 AHES| B
r.p.m(min"")
5000
5000
6000
4800
4100
3400
3040
2710
1940
1760
900
800
630
630
500
500
280
400
150

Spindle nose NO.
= z

A2-8
A2-11

A2-8
A2-11
A2-11
A2-15
A2-11
A2-15

EPNE=RSES
r.pom(min )
2100
2100
1700
1700
1500
1500
1200
1200

1. Economical Model It is the most economical model without through-hole in the
chuck, and used when not passing a bar work. 2 « High Speed Strong gripping force
and safely of performance are secured by optimal design, and high speed rotation is
achieved 3 - Durability Heat treatmemt is performed to alloy steel, and high accuracy,
strength and durability are realized by improving Iubrication system. 4 - Compatibility
The same soft jaws and hard jaws as those of big bore chuck are applied in order to
secure mutual compatibility.

1. 258 fHUSFERERI, TENTTHTAFARENBEATER, 2 SL5FN0ES.
2. gEH  HEEIHE T BANRENFSRERNT . 3. ER | RFEUET %

HPENEEWAME BENEEAFY HHAESHE

4  FEERS R FEERENYORE N, BitEERE

1-ERREF L 2- BRLER 3 - AR
1-Zm=el 2 2. 345 M3 3- U174 &2 458 a8

Jaw stroke
(Diameter)
ZAERI(MZE)mm

20.6
30+(30)
30.5
46+(30)
30.5
46+(30)
48

48
48

Weidht (With standard
softjavs)/ B (EE
AZE FFS) kg

4

6

13

28]

37

578

96

131

198

223

341

350

670

670

800

800

1600

1600

3200

Jaw stroke
(Diameter)
ZAERI(MZE)mm
18.6
18.6
18.6
18.6
18.6
18.6
18.6
18.6

Weight (Wth sandard

woftiawad / =2 (ZEZ= Moment of inertia

AZE ®EF) kg
98
98
132
132
195
195
250
250

Plunger stroke
EZdyq AE23
mm
15
15
20
21
25
30
35
35
35

GD?
Moment of inertia

N- m (kgf. m*)
0.196(0.02)
0.56(0.06)
1.77(0.18)
5.39(055)
11.17(1.20)
28.44(2.90)
70.5(72)
95(9.7)
188.2(19.2)
67.8(692)
23.8(243)
23.8(243)
68(7.03)
68(7.03)
145(14.78)
145(14.78)
500(50.97)
500(50.97)

Plunger stroke
EdH 2AER3
mm
35
35
35
35
35
35
35
35

GD?

N- m'(kgf.m*)
69.6(7.12)
69.8(7.12)

135.32(1338)

135.32(1338)

26868(274)

26868(274)

456.2(4652)

456.2(4652)

4 BEBAER

Gripping Dia(Extend gripping)

el (2] Zufe)mm
Max Z[cq Min Z[4
110 6
135 15
165 19
210 23
254 24
304 26
381 60
450 140
530 82
610 170
800 211
800 296
1000 330
1000 187
1250 330
1250 187
1600 -
1600 460
2000 -

Matching cylinder
Hgdezo
YAS - 65
YAS,C,P, T -80
YAS,C,P, T-100
YAS,C,P, T-125
YAS,C,P, T-125
YAS,C,P, T-150
YAS,C,P, T-200
YAS,C,P, T-200
YAS,C,P, T-200
YAS,C,P, T-200
YASTL-200
YASTL-200
YAST-245
YAST-245
YAST-245
YAST-245
YAST-245
YAST-245

Matching hard jaw
HE8slEx

HJ-06T1
HJ-08T1
HJ-10T1
HJ-12A1
HJ-15A3
HJ-15A3
HJ-21B1
HJ-21B1
HJ-3 2A1
HJ-32A1
HJ-40A1
HJ-40A2
HJ-4 0A1
HJ-40A2

HJ-40A2

Gripping Dia(Extend gripping)

mper(2] Zotehmm
Max Z|cl Min X4
381 60
381 60
457 60
457 60
530 110
530 110
610 110
610 110

Matching gylinder Matching hard jaw
Maazn 185l=x

YAS,C,P, T-200
YAS,C,P, T-200
YAS,C,P, T-200
YAS,C,P, T-200
YAS,C,P, T-200
YAS,C,P,T-200
YAS,C,P, T-200
YAS,C,P, T-200

=

HI-15A1
HI-15A1
HI-15A1
HI-15A1

. BEENSMENGL 4+ F#5

Max. permissible

input force /&

A3 KN(kgf)
4.4(445)
6.4(647)
19(1938)
28(2856)
32.5(3315)
41.5(4233)
81.9(8362)
81.9(8362)
81.9(8362)
81.9(8362)
100(10200)
119(12232)
161(16450)
161(16450)
161(16450)
180(18367)
180(18367)
196(20000)
196(20000)

Matching soft jaw
HSAEDR
SJ-04T2
SJ-05A1
SJ-06T1
SJ-08T1
SJ-10T1
SJ-12T1
SJ-15A3
SJ-15A3
SJ-21A1
SJ-21A1
SJ-32 A1
SJ-32 A1
SJ -40 Al
SJ-40 A2
SJ -40 Al
SJ-40 A2

SJ-40 A2

Max. permissible

input force /&

A3 KN(kgf)
73.5(7438)
73.5(7438)
73.5(7438)
73.5(7438)
98.1(9927)
98.1(9927)
98.1(9927)
98.1(9927)

Matching soft jaw
HEAEZSE

SJ-15A2
SJ-15A2
SJ-15A2
SJ-15A2
SJ-21A2
SJ-21A2
SJ-21A2
SJ-21A2



Outward Drawing/4} EUER/AFFEY @ & & Dynamic Gripping Force/spte yaimiE 117 7/5% 122 Kz

s P __ v _ SERRATION PITCH 15, 3
iy . 1% T’ Sy
AN £ ' oasos0s o 15000
¥ it — == o
f I 3 E 19000 == %, CAS
88 = —8l ~ %__T 14000 =
l‘ ]m - CAS10 e
;‘ o | S CiEe—eT, = _, i 10000 T \?‘\. 1
Sr b s ar | 8, ) 3000 = : |
y/ 3 & ' a0 | 8
i — _._ﬂ'r e 4000 1= E
7 | CAS0S
/ 2000 || m
/ i——— ! cAsot | — | -
K L = 1000 2000 3000 4000 5000 6000 n
RoN| L 1 I T . y
8 #H (rpm) T
Dimension/R~/<J#%&/ X+ & %
wegs ™ A B C F g H J K L MNmXNmnOm OmnPmxPmn Q R S T U V W X Y Z A
CAS04 110 52 60 6 - 80 - 3-M165 14 26 235 10 7 5 -10 25 10 25 3 M5 - 25 - 27 5
CAS05 135 52 80 7 - 100 - 3-M165 19 32 295 115 7 9 -6 25 10 3% 3 MMB - B - 27 585
CAS06 169 74 140 5 116 1048 23 6-Mi0 14 20 41 367 13 7 1005 815 31 12 36 4 MEX20 3ME R R B 72
CAS08 210 85 170 5 150 1334 28 6-Mi2 15 25 463 419 25 9 17 106 39 14 36 5 MOX25 3M6 3B 3B 43 %
CAS-10 254 89 220 5 190 1{71.4 34 6-Mi6 18 30 511 467 307 112 1% 133 44 16 36 5 MOx25 3MB 38 44 50 {10
CAS-12 304 106 220 6 190 171.4 39 6-Mi6 18 30 61 557 487 127 1@ 133 50 18 36 5 MAX25 M8 38 50 54 {11
CAS-15 381 114 300 6 260 235 27 6-M0 20 43 73 65 547 157 14 69 50 255 55 6 MOX35 3-MI0 55 60 60 135
CAS-18 450 114 300 6 260 235 27 6-M0 20 43 1065 985 485 232 92 57 50 255 55 6 MOX35 3-MI0 55 60 603 135
CAS21 530 125 380 6 330 3302 27 6-W2 26 60 86 78 935 275 97 62 65 25 55 6 MOK35 3-MI2 55 60 71 180
CAS24 610 125 380 6 330 3302 27 6-M2 26 60 1245 1165 935 275 97 62 65 25 55 6 MOK35 3MI2 55 60 71 180
CAS-32 800 150 380 6 - 3302 - 6-W4 31 762 8 777 - - 3 -3 75 255 60 8 MOX35 - 55 114 8 165
CAS-32HC 800 150 380 6 - 3302 - 6-M4 30 762 172 1285 - - 35 -3 75 255 65 11 MOX35 - 55 114 8 165
CAS-40 1000 180 520 8 - 510 - 6-W4 34 100 145 1208 - - 53 -3 98 30 65 -4 M¥XD - 60 - 106 200
CAS-40HC 1000 180 460 8 - 4636 - 6-M4 32 1524 207 154 - - 35 -25 110 30 68 O M¥X40 - 60 - 110 270
CAS50 1250 180 520 8 - 4636 - 6-W4 32 100 145 1208 - - 35 -22 98 30 68 -4 M¥X0 - 60 - 106 200
CAS50HC 1250 180 520 8 - 4636 - 6-M4 32 1524 207 154 - - 35 -25 110 30 68 -4 M¥X40 - 60 - 106 270
CAS63 1600 220 720 8 - 648 - 6-W0 46 - - - - - 13 -4 - - MBX4O - - - - -
CAS-63HC 1600 220 720 8 - 6476 - 6-MB0 47 1524 251 227 - - 13 -47 110 30 68 MBX40 - 60 - 104 270
CAS80 2000 250 720 10 - 1120 - 9-WB0 58 1524 - - - - 23 -37 110 30 68 -4 Mox45 - 66 - 105 9270
CAS-320IR] 0JA2 S oft Jaw RIZSIFKey-TypeYLICE  CAS-[JHCE OIN| ZBE Type UL
*Sott jaw for larger size than CAS-32 : Key mount type. «CAS-[JHC -Combination Type.
+ CAS-324 ¥ FLLEINEMOMER ey —Ty pe TT. * CAS-[IHC I AR T+
* CAS-325 AR BEEZR R ey AL * CAS- [HC 2gRaL.

Outward Drawing/4} IR/ SR/ @ 8 = Dynamic Griyping Force/sfptc it 7 7 G5 1o % Ak

» Short taper mount

- _SERRATIONPITCH 3
S
=
w
or
ﬁ— n
" s o
o :\:\‘\:“a "-\\\ !
E 12000 \‘\\"_‘.
'\\_\;\\
CAS.IH\i\ N osn|
OO0 T \
| : RN
4000 -
0 1000 2000 3000
CAS-15,18,21,24 L-—lﬁ'_L_Lﬁ;-" 3| H= (pm)

Dimension/R~I/<EEK/ A+ &

s ™% A B C D E F G H J KIANS) K(JS) LANSI LUIS) Nmax Nmin Oma Omin Pmex Pmn S T U v X
CAS-15A8 381 125 225 134714 20 2421 85725 17145 8 S/&11UNC 6M6 24 225 745 652 545 215 35 50 175 MZX30 8 63
CAS-15A11 381 125 280 18864 20 2936 175 2% 10 3/410UNC 6MD 23 26 745 652 545 215 35 50 175 MZX30 65 63
CAS-18AB 457 125 225 13714 20 2421 85725 17145 8 S/&11UNC 6-M6 24 225 745 652 905 215 35 50 175 MZX30 120 63
CAS-1BAT1 457 125 280 19688 20 2936 175 2% 10 3/410UNC GMD 28 26 745 652 905 215 35 50 175 MZX30 100 63
CAS21A11 530 140 280 196864 20 2936 1175 2% 10 3/&-10UNC 6-MD 334 31 1015 922 1005 215 35 55 220 MIN35 110 75
CAS21A15 530 140 380 B376 22 3571 11 3%2 10 7/49UNC 6M2 354 32 1015 922 1005 215 35 55 20 MIN35 110 75
CAS-24A11 610 140 280 196864 20 2936 1175 2% 10 3/&-10UNC 6-MD 334 31 1015 922 1365 215 35 55 220 MIN35 145 75
CAS-24A15 610 140 380 2576 22 3571 14 3%2 10 7/49UNC 6M2 354 32 1015 922 1365 215 35 55 20 MIN35 145 75

OO oo ocoo o

CHUCK | 17



ADNHD YHIMOd =i

CLOSED CENTER POWER CHUCK (SHORT TAPER
PR GRRR BERREL (T~ F ¢ » 5 (A7 4~ 15348 B Hoigs 1Y)

1 - Spindle Direct-Mounting Type International standard A-type spindle
specification is applied to mounting face, so itis possible to directiy attach to short taper
spinde. 2 -+ Shortening of changing time Chuck-changing-time can be minimized
as run-out accuracy is kept upon attachment 3 - High Performance and High
Quality It has same structure as CAS power chuck, and gurantees excellent
performance and quality. Mounting face and changable parts are compatible with CAS.
4 - Convenient Attachment Option Because adapters stitable to various spinde
specifications can be manufactured and attached, the scope of applicationis extensive.

1. EEREE  TESREENSEMIEAR THNBRTAEL. 2. 585 | EFERET
ESENRERN, REEETHEEER. 3. Mkt REN: tFE5cAsEFALIHEE, R’
HHEEHN AR EE, BT REEERENY. 4. BT 00E  TEUEEI=58
HAEMENTHES, P ATHERTER

1. 20y PIERR 2. WEAIRIER 3. St BRE

1-Amg Jz38 2. @HAZ @5 3. 345 1FF

s BRI LET 7 v ay

L ELE

4
4

Dimension/R~/EHR/A T &

Morlel‘l"emﬂs A B c D E
CASA-06 169 84 140 82563 15
CASA-08 210 97 170 106375 17
CASA-10 254 102 220 139.719 18
CASA-12 304 118 220 139.719 18
CASA-15 381 130 300 196.869 22
CASA-18 450 130 300 196869 22
CASA-21 530 146 380 196869 27
CASA-24 610 146 380 196869 27

G H J K
116 1048 23 6-MI10
150 1334 28 6-MI12
190 1714 34 6-Mi16
190 1714 39 6-Mi16
260 235 27 6-M20
260 235 27 6-M20
3302 3302 27 6-M22
3302 3302 27 6-M22

M Nmax Nmin Omax Omin PmaxPmn Q R S
20 41 367 13 7 865 665 31 12 36
25 463 419 225 9 110 8 39 14 36
30 511 467 307 112 140 115 44 16 36
30 61 557 487 127 145 115 50 18 36
73 65 547 157 82 47 50 255 55
43 1065 985 485 232 70 35 50 255 55
60 8 78 935275 70 35 65 25 55
60 1245 117 935 275 70 35 65 25 55

U v W X Y Z
M16X20 3-M6 32 32 35 72
M20X25 3-M6 38 38 43 9
M20X25 3-M8 38 44 50 110
M20X25 3-M8 38 50 54 111
M30X35 3-M10 55 60 g0 135
M30X35 3-M10 55 60 603 135
M30X35 3-Mi12 55 60 71 180
M30X35 3-Mi2 55 60 71 180

Specifications A&/ AL E

oo oo oA o

oo oo T
BEBBRR =T
S
@

Spec.AtQF N Jaw stroke Punger st oke Grip ping Da(Extend gripping) Max. permissible
° s inge nose o (Dameter) EEN-LE] Ttz @l emm putio e /518
Model& 4! T & AEZIEZ)mm mm Max 2T} Mn & A2iH 3 KNK g
CASA-06 1 ASA06 A2-5 92 20 165 19 19(1938)
CASA-08 1ASA08 A2-6 838 21 210 23 28(2856)
CASA-10 1ASA10 A2-8 88 25 254 24 325(3315)
CASA-12 1ASA12 A2-8 105 30 304 26 415(4233)
CASA-15 1ASA15 A2-11 16 35 381 60 8362
CASA-18 1ASA18 A2-11 16 35 450 140 8362
CASA-21 1ASA21 A2-11,15 16 35 530 82 8362
CASA-24 1ASA24 A2-11,15 16 35 610 170 8362
AbR .staic gipping force  Max.permi ss bl i ith stan 8 ; ; F P ; q
Spec.Ate Ma’ﬂs&f %%slprf}gg W aglpﬁrr}\l}g gl?_%eed s‘g:igtswg séa(g:ﬁd M a‘ner??:f e ria Match ing cylinder  Match ing hérd jaw  Matching édnt jaw
Modelg Al KNK g r.pm(min ") ATE BT H) kg N-m(kg f.) Hadar HEIER HBrERT
CASA-06 63(6426) 6000 14 1.96(020) YAS,C,P, T-100 HJ-06T1 SJ-06T1
CASA-08 80(8160) 4800 27 5.79(059) YAS, C,P,T-125 HI-08T1 SJ-08T1
CASA-10 115(11730) 4100 40 1284(131) YAS, C,P,T-125 HJ-10T1 SJ-10T1
CASA-12 156(16014) 3400 66 2952(301) YAS,C,P,T-150 HI-12A1 SJ-12A2
CASA-15 248(35391) 3040 96 705(72) YAS, C,P,T-200 HI-15A3 SJ-15A3
CASA-18 248(35391) 2710 131 95(97) YAS,C,P,T-200 HJ-15A3 SJ-15A3
CASA-21 272(27838) 1940 198 188.2(19.2) YAS, C,P,T-200 HI-21B1 SJ-21A1
CASA-24 272(27838) 1760 223 678(6.92) YAS, C,P,T-200 HI-21B1 SJ-21A1

18 | www .seoam kr



2-JAW CLOSED CENTER POWER CHUCK
DT HER/ 2 2(BEREEANT - F v v 4/2- B2 TEEZ MY TN

1. Clamping of Irregular Work It shows excellent performance for machining
irregular works such as square bars. 2 « High Performance and High Accuracy

Outward Drawing/4} EUER/ARIEY @ & =

It has the same structure as CAS power chuck, and guarantees excellent
performance and quality. Mounting face and changable parts are compatible with
CAS. 3 - Spindle Direct-Mounting Type International standard A-type spinde
specification is applied to CASTA type, so that it can be directly attcahed to short
taper spindes.

1 ZETAMTH : MFBEREAANTHS, BrbEfgnee. FnsinEs. 2. tae
17, 1FES : KFRECASEFASIEE, REHGHAENURNEE AHRTREEERE
. 3. BERTRL  TEERRENCERMI AR T MR TR L.

1. BRTIEIGE 2- B8, BiFE 320 FIERR

1-0183xE ntot 2. a5 IHE 3. AHE

IDNHD 4IMOd ==

Dynamic Gripping Force/sipieE RN M7 7 4 128 42

T _ SERRATION PITCH 1.5

&5 ot (kef)

12000
10000 [
| CASTIZ
8000 | 1
CASTID \
W——— z
casToR || |
4000 —— =
e |
castas | = |
S \‘kitz__

Dimension/ R~/ #F/ A+ &

ltem &%
Model#4 A B

CAST-06 169 74
CAST-08 210 85
CAST-10 254 89

CAST-12 304 106

C F G H
140
170
220
220

o O or o

J K L M Nmax NminQOma Omin Pmax PmMn Q R S
7 1015815 31 12 36
9 127 106 39 14 36

116 1048 23 6-M10 14 20 41 367 13
150 1334 28 6-MI2 15 25 463 419 225
190 171.4 34 6-Mi6 18 30
190 171.4 39 6-M16 18 30 61 557 487 127 163

511 467 307 112 158 133 44 16 36

183 50 18 36

Umax V

MiI6X20 3-M6
M20X25 3-M6
M20X25 3-M8
M20X25 3-M8

oo~

W X Y Z
32 32 36 72
38 38 43 95
38 44 50 110
38 50 54 11

Specifications /4&/ T ALY &

Spec.AFY¥

Model& Al
CAST-06
CAST-08
CAST-10
CAST-12

Order NO. Spinde nose NO.

20HS

1AST06
1AST08
1AST10
1AST12

J(aw stroke)
= Diameter
a3 ZAEZI(MA)mm
A2-5 92
A2-6 88
A2-8 88
A2-8 105

Plunger stroke

Spec At \ax shticgrippingforce  Maxpermissible speed  Wecht Wit sencardsoft aws)

Model& Al

CAST-06
CAST-08
CAST-10
CAST-12

A0 Y& mjoty
KN (kaf)
419(4241)
532(5385)
765(7742)
104.4(10569)

A AEEHS

rp.m(min™)
4300
3600

3100
2500

kg
125
24
355
605

33 (BEAZE 7EF)

Gripping Dia(Extend gripping)

ZHM AER3 ntetA (2| Zutehmm
mm Max Z[cH Min £[A

20 165 19

21 210 23

25 254 24

30 304 26

GD? . .
Moment of inertia Ma‘g‘é‘ig{'g"e’
N (kaf.) Te=s

167(017) YAS, G P, T-100
520(053) YAS, G P, T-125
1147(1.17) YAS, G P, T-125
27.75(283) YAS, G P, T-150

Max. permissible
input force /518
AZIEE KN(kgf)

126(1279)
186(1885)
216(2187)
276(2793)

Matching soft jaw
HIAEZH

SJ-06T1
SJ-08T1
SJ-10T1
SJ-12A2

CHUCK | 19



ADNHD YHIMOd =i

3-JAW DRAW DOWN CHUCK
B A= EHR 3 Fo-4Y F 94 3-22 E2Q 12 X

1 - Stable Clamping As a work piece is puled to datum plane for clamping it
gurantees excellent stability and garipping force. 2 - Multiple Utilities It shows
excelent performance in clamping diverse work piece such as flange, shaft, gear,
crank and taper type.
* C11MB chuck is to clamp outer dameter of work piece, and C13M chuck is to
clamp inner diameter.

1. ZETR : SNTTHRUEEAEHMT REN, RIBEEFEE, BAED. 2« AgS
2 FRURERESHIH, NO5M, Wi, tRCURER, BFETHE.

* C11IMB AT AT HIMIREE R, C1avFERTXITH AR HERE.

1. 221308 2. 2ENRERE

* C1IMBF + v H|i TRHIONEZIEE + A18ET, C1IMF + v I PYRHIEET A1E 1.
1.088 mot 2.2y 8K

*C1IMBH 2 280 QA2 mjotst= X0/, C13M He WA S mjotste FEYLICH

Outward Drawing/#} ZUE /AR 2|

33
/CTIMB-04.05 o 8000
A &£ 7000 ]

3000 |- B
I = 2000 = —
g & TemA
= | 100K} [rmmmemcieiine —e
} \ CIIMB
\ - 0
r__.-'l i! ' p \G11MB-04.05.06 500 1000 1500 2000 2500 3000 3500 4000
8 % | e 623/ T
Ll J C11MB-06.08,10,12 % (rpm)
8

C11MB-04,05 C11MB-06,08,10,12

Dimension/R~/Z#E/A+E

™ A B C F G H K L NmxNmhPmxPmn Q S TmaxTmn U W X YmxYmh 21 22 Z3

CliMB-04 110 60 60 5 98 80 3-M8 14 37 345 19 12 25 20 105 35 MIOXI5 25 28 30 23 25 MEXDP1 1
ClimMB-05 130 70 80 5 118 100 3-M8 9 44 415 19 12 30 25 105 35 MiI2Xi75 28 30 35 28 30 - M&DPi1
CliMB-06 165 85 140 5 - 10477 6-M10 11 58 544 33 23 35 36 14 4 MI6X20 32 35 45 35 35 20 MBXDP13
CliMB-08 210 95 190 5 - 13335 6-Mi12 23 71 674 38 28 40 36 14 4 MOX25 38 42 55 45 45 25 MDP13
CiiMB-10 254 110 230 5 - 17145 6-M12 22 85 796 47 32 50 46 19 4 MA4X30 50 52 65 50 55 30 MI0XDP17
CliMB-12 304 125 230 5 - 17145 6-M16 27 102 966 47 32 60 50 19 4 MZX30 52 55 75 55 70 35 MIO0XDP17
Specifications /AlF&/HHEE/ AFS B
Spec Aty Jaw stroke(Diameter) Plunger stroke Gripping Dia(Extend gripping) Max. permissible
OirﬁrﬂiNg £ AEEIHI) Z3N AER3 L}OHA (9] At mm input force /31
Model&/Al . mm mm Max Z{cH Min &4 A2ICE KN(Kgf)
C11MB-04 11904 5 7 110 18 59(601.8)
C11MB-05 11905 5 7 130 25 9.8(9996)
C11MB-06 11906 7.2 10 165 35 14.7(1499)
C11MB-08 11908 7.2 10 210 40 24.5(2499)
C11MB-10 11910 10.8 15 254 50 34.3(3499)
C11MB-12 11912 108 15 304 50 44.1(4498)
Spec.At¥  Max.sticgrippingforce  Maxpermissible speed  Weight Wit siandardsoft aws) GD? ; ; . ;
A HHmol MR ASIMA  BYEEAIEEEY)  Momenofmeta MWD OiRGr  MEAyg SOt
Model8/Al KN(kgf) ro.m(min”") kg Nem (kgf.m) Se=s e
C11MB-04 103(1051) 7000 45 0.312(0.032) YAS, C, P, T-65 SJ-04D1
C11MB-05 168(1714) 6000 73 0.704(0072) YAS, C, P, T-80 SJ-04D1
C11MB-06 247(2519) 6000 138 1.764(0.18) YAS, C, P, T-100 SJ-06D1
C11MB-08 44.1(4498) 5000 27 664(0.68) YAS, C, P, T-125 SJ-08D1
C11MB-10 58.8(5998) 4200 458 14908(152) YAS, C, P, T-150 SJ-10D1
C11MB-12 735(7497) 3300 68 31.388(320) YAS, C, P, T-150 SJ-12D1

20 | www _seoam kr



SWING LOCK CHUCK
B EFR AR F vv /LB 5 X

1 - Strong Gripping Force It is the chuck that jaws pull materials and stick
them to the chuck base plate for stable clamping. 2 - Clamping Taper
Part It can accurately clamp (within 20%)the rough face of casting and
forging parts of taper face and clamp inner and outer diameter. 3 - Swing
Type Jaw As jaw is balanced and swung (within 5%)in line with
configuration of clamping face of materials, it performs the most stable
clamping. 4 « Excellent Dust-proof Performance It prevents foreign
substances and chips wih a dust seal installed in the locker arm.

5. C63M :3 JAWType, C64M: 2 JAW Type

125708 REEMFLENENTTH, BEFEEFEEAE, FEFE. 2. £5#
Tt RRAAEEF SR E 0 LINRAVO A TR FRNEE, FuEETHY
A, SR, 3 BHER: S TUTFFERET, ENTIHNEEELESDS LA &
EREE 4 iMedT AT A EIREFAFE BNEWALS L2HLE.
5.C63M : =T, C64M - T

1. 34BN 207 /HEE 3+ FBROM 4. Bt
5. C63M: 3JAW Type, C64M : 2 JAW Type
1. 2208 motey 2. Ho|my mot 3. 259 & 4-UAYS 95

5+ C63M:3 JAW Type, C64M : 2 JAW Type

IDNHD 4IMOd ==

Outward Drawing/#M 2B/ AFEY 2 € =

| CEIM-10;
CBIM-12 T

R i Y iy
o i -__“"“'}:-\ oo
4000 ==

3000 , — — i \_: e |- | S
2000 f—— ﬁ S

5% aiof# (ke
g

CEIMDG ™.,

500 1000 1500 2000 2500 3000 3500 4000
BT == (rpm)

‘

Dimension//"~H/J%/ x| 4+ &

wogy "™ A B C D E F G H K L M N O PmPmxQ S U W
C63M-06 175 77 140 42 5 5 51 1048 731 3-MI0XI5 14 135 442 193 325 439 381 38 Mi6X2 32
C63M-08 210 89 190 50 5 5 60 1334 889 3-MI2Xi75 19 165 527 233 375 519 444 38 Mi8X25 35
C63M-10 254 106 230 58 5 5 72 171.41127 3-Mi6X2 20 195 656 291 50 675 571 46 M24X3 45
C63M-12 304 108 280 66 5 5 925 171.4 1332 6-MI6X2 20 195 656 291 57 745 571 50 M27X3 53

Specifications /HH&/ R/ ALY E

Spec At Jaw stroke(Diameter)  Plunger stroke Gripping Dia(Extend gripping) Max permissible
Corus ZAERIXZ)  EuMAE23 mrer (A Zmemm input force /518
Model3iA! = mm mm Max &/} Min & A A2 2 KN(kgf)
C63M-06 1C6306 74 114 120.0 12 216(2200)
C63M-08 1C6308 92 144 150.0 16 28.4(2900)
C63M-10 1C6310 118 175 205.0 50 353(3600)
C63M-12 1C6312 118 175 240.0 63 35.3(3600)
SpecAtY Max.static aripping force  Maxpermissible speed Weigtt (With standard sof GD? Matching olind
A0 Yooty A DA S s iws) B (EFAZE FFE)  Moment of inertia ;-gn/ggglg e
Model 3 Al KN(kaf) r.om(min”") kg N- m(kgf.m) o=
C63M-06 64.7 (6600) 3800 14 049(0.05) YAS, C, P, T-100
C63M-08 85.3(8700) 3000 23 1.08(0.11) YAS, C, P, T-125
C63M-10 106(10800) 2500 40 264(0.27) YAS, C, P, T-150
C63M-12 106(10800) 2000 59 5.88(0.60) YAS, C, P, T-150

CHUCK | 21



ADNHD YHIMOd =i

SOFT JAW

SOFT JAW
YN/ A /AZE 72

O

VoW

\

[ G

[
— .

[ e

o L] Y

Fig.3

Dimension /"~H/EE /x| 4+ &

Type
SJ-04T1
SJ-04T2
SJ-05T1
SJ-05A1
SJ-06T1
SJ-06A1
SJ-08T1
SJ-08A1
SJ-10T1
SJ-10T2
SJ-12T1
SJ-12A1
SJ-12A3
SJ-15A1
SJ-15A2
SJ-15A3
SJ-21A1
SJ-21A2
SJ-32A1
SJ-40A1
SJ-40A2

Type
HJ-04A1
HJ-06T1
HJ-06A 1
HJ-08T1
HJ-08A2
HJ-10T1
HJ-10A1
HJ-12A1
HJ-12A2
HJ-12T1
HJ-15T1
HJ-15A1
HJ-15A3
HJ-21B1
HJ-32A1
HJ-40A1
HJ-40A2

Fig

1
1
1
2
1
2
1
2
1
1
2
2
2
2
2
2
2
2
3
3
3

Fig

WWWN=N==MNMNN=N=N=N

Serration
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
1.5X60°
30X60°
1.5X60°
30X60°
30X60°

Serration
15X60°
15X60°
15X60°
15X60°
15X60°
15X60°
15X60°
15X60°
15X60°
15X60°
15X60°
3.0X60°
15X60°
3.0X60°

22 | www .seoam kr

A
475
54
54
585
72
66
95
855
110
108
129
111
111
165
156
135
180
180
165
200
270

B
25
25
23
25
31
35
37
40
44
45
49
49
50
5
65
50
59
65
75
98

110

C
25
25
25
25

315
35
375
40
445
45
49
495
60
095
70
S
595
70
83
110
110

HARD JAW

A
543
755
658

87
831
101
983

105.8
114.2
104.4
159.2
153.5
149
159.5

145

170
222.5

C
30
41
35
51
40
54
45
52
55
62
86
75
86
90
75
110
117

D B F G H J K L M N Matching Cuck HEX
11 4 95 16 22 14 9/82 16 4 55 2IM3TM-45
10 5 10 14 30 135 9 14 8 3 1MA-4
10 4 115 14 28 135 85 165 5 - CAH-5
10 5 8 19 315 14 9 14 - - 1MA-5
12 5 15 20 37 175 11 195 12 15 CAH/CAS/CGH-6
12 5 145 20 315 175 11 22 - = 2TM/3TM-6
14 5 20 25 50 20 14 225 1 20 CAH/CAS/CGH-8
16 5 20 25 405 20 135 26 = = 2TM/3TM-8
16 5 30 30 50 20 14 285 1 20  CAH/CAS/CGH-10
18 5 24 30 54 23 16 30 8 - 2TM/3TM-10
18 6 39 30 60 23 16 31 - - CAS/IMA12
21 5 21 30 60 25 17 315 = = CAH-12
21 5 25 35 51 26 18 42 - - 2TM/3T™M-12
22 8 47 43 75 32 22 36 = = CAH-15,18
26 8 34 50 72 32 22 50 - - 1MA-15,18,21
255 5 26 43 66 32 21 39 - - CAS-15,18
25 95 40 60 80 32 22 36 - - CAH/CAS-2124
26 8 34 50 96 32 22 50 - - 1MA-21 24
127 125 219 762 669 32 22 54 1903 - CAS-32, 32HC
30 6 35 100 65 40 27 86 1903 - CAS-40, 50
30 85 488 2-762 688 40 27 85 1903 - CAS-40HC, 50HC
HARD JAW
B /8 ste &2

—— l

lgoh 13

s i ER

B |- j+

D
11
12
12
14
16
16
18
21
21
18
22
26
255
25
127
30
30

o]
(6]

F
237
30
327
27
428
43
543
605
681
296
66
83
69
103.48
66
100
133

G
16
20
20
25
25
30
30
30
35
30
43
50
43
50

762
100
114.3

Fig.2

Dimension/R~/EHR/A T &

H
306
12
331
22
403
17
44
453
461
303
35
705
27
562
79
70
895

J
14
175
175
19
20
19
23
25
26
23
32
32
32
32
32
40
40

K

9

11

11

13
14
13
16
17
18
16
21
22
21
22
22
27
27

L
8
10
11
12
13
13
15
17
20
15
20
30
20
40
32
47
55

N
10
9
12
12
15
17
30
18
25
40
44
43
55
1903
1903
1903

(6]
15
13
12
11
15
24
30
18
25
40
44
38

Matching Chuck & & &

27M/3TM-4,5

CAH/CAS/IMA-6

27M-6/37M-6

CAH/CGH/CAS-8

27M-8/3TM-8

CAH/CGH/CAS-10

27M/37TM-10
CAH-12
27M/37TM-12
CAS/1IMA-12
CAH-15,18
1MA-15,18.21
CAS-15,18
CAH/CAS-21,24
CAS-3232HC
CAS-4050

CAS-40HC,50HC



ADAPTER Esisiyypes

20
2A

Model&#4] ten®= spindenose Fig A B C D E F G H J K L M N Matching ChuckBH &%
AD-06A05 A2-5 1-1 140 15 82563 797 163 65 10478 12 116 - 1 65 66 CAH, CAS
AD-08A05 A2-5 2 170 25 82563 797 163 65 10478 - 13335 M12 175 115 11 CAH, CAS
AD-08A06 A2-6  1-1 170 17 106375 103 1945 65 133.35 135 150 - 11 65 66 CAH, CAS
AD-10A06 AD-12A06 A2-6 2 220 25 106375 103 1945 65 13335 - 17145 M16 20 135 14 CAH, CAS
AD-10A08 AD-12A08 A2-8 1-1 220 18 139719 136 242 8 17145 18 190 - 14 10 9 CAH, CAS
AD-15A11 A2-11  1-1 300 22 19687 19212936 10 235 21 260 - 17 11 11 CAH
ADT-06A05 A2-5 1-2 140 15 82563 797 163 65 10478 12 116 - 11 65 66  CAHT, CAST
ADT-08A06 A2-6  1-2 170 17 106375 103 1945 65 13335 135 150 - 1 65 66  CAHT, CAST
ADT-10A08 A2-8 1-2 220 18 139719 136 242 8 171.45 18 190 - 14 10 9 CAHT, CAST

Short taper Spindle Nose
B I VAl Y=

PRISTEENES. i oL
ey
=
| Dimension/R~/T A&/ A+ &
aj‘? sindenose A B CO C1 A-TeeD AXieR E G

F
' S — 8| 3 92 5975 33 - - 11 - - M10
- | 4 108 63513 413 - - 11 1415 5  MI10
= al | e 5 133 82563 524 3095 1429 13 159 5 MI10
/ = | 6 165 106375 667 413 1588 14 1905 5 Mi2
_|E \ | ‘%f 8 210 139719 857 5555 1746 16 238 6 MI16
— ) \ i 1 280 196869 117.5 8255 1955 18 286 8 M20
L__ — 15 380 28577 165.1 1238 2064 19 349 8 M22
e/ lo g &/ L'l?_
SPINDLE A1 - Type SPINDLE A2 - Type

»Soft Jaw »Hard Jaw » Adapter
SJ-LI) L) 01 HI-CI) [ 0] ADLI-CIL] AL
Chuck Size Option Chuck Size Option Chuck Size Spinde Nose
Shape A.I Flat(Z+&) Shape A] 2 Step(2Eh) Blnk | Standard
B | Protrude(I L&) B | 3 Step(3EH) T | 2-jaw type

CHUCK |23

IDNHD 4IMOd ==



BIG BORE HYDRAULIC CYLINDER
FRFLEG Bl SR ZE IR ) v & - /15538 s d 7 YL

1 - Safety Guaranteed It contains check vaves so that pulling force is kept for a
certain time upon power failure, securing safety. 2 - Easy Repair & Check
Thanks to easy access of chuck valves from outside, it is possible to reparr and
check them, while cylinder is attached to the equipment. 3 - Leakage Prevention
Design(Patent Registation:0172805) Cylinder body is designed with a leakage
prevention structure to totally eliminate the possibility of leaking. 4 + Highest Draw
Pull As weight is reduced and draw pull is increased, it gurantees the best
machining efficiency and stronger power.

1-RETE  HERBIIHEEER, SEs, EHNTRT—RIE, BlH‘kTe.
2. EHEMRAES BT WISSETRTELR, SEEMITRERELENETEEME
W3- Bt CEREA 01 72009) © EREMTEAREST R, TEHBRRHIT RN
4. HIREX : SR BIIEEFERN AN, ) TREE SIS NN

1. 2207 2- MEAEIES 3. RAIMLEET AFTE)) 4 -8B 5 2507

1.0 &= 2-853000 801 3-£RUK MN(S5S8 0172005 4-5F Hf 5

2 Specifications /#F&/ MR/ AL E

=

N Spec.AtY Cylinder Dia  Piston stroke  Thru hole Dia Piston surface area Max. Draw bar pull

2. GLLYS  AECUZ DAEAER3  AzCwEd T AE SR o Algicf 22 KN(ka)

= ModefAl Ty Ty n Extend 2=  Retract®lE  Extend2=  Retract 9=

o YAH-05 21405 85 10 31 432 398 139(1421) 128(1309)

g YAH-06 2AH06 130 15 46 110.6 995 416(4242) 37.4(3816)
YAH-08 2AH08 160 20 52 172.8 162.6 65.0(6627) 61.2(6236)
YAH-10 2AH10 185 25 77 213.3 197.9 80.2(8180) 745(7590)
YGH-10 2GH10 185 25 82 205.1 190.2 772(7866) 716(7295)
YAH-12 2AH12 205 30 91 251.5 235.0 94.6(9646) 884(9013)
YAH-15 2AH15 255 23 117.5 367.5 356.7 129.6(13230) 125.8(12841)

SpecAl¥  Max. operating pressire  Maxpermissblespeed  Total leakage Weight GD? Matching chuck
HIAE [ | DA S M = NES =g Moment of inertia Hex
Modef&Al kef fort rp.m(min”) 2/min kg N-m (kgf.m) e

YAH-05 35 7000 16 6.7 0.24(0.024) CAH-05
YAH-06 408 7000 30 120 0.74(0.075) CAH-06
YAH-08 408 6200 35 155 1.96(0.20) CAH-08
YAH-10 408 4700 42 230 343(0.35) CAH-10
YGH-10 408 4500 45 292 4.80(0.49) CGH-10
YAH-12 408 3800 45 310 569(058) CAH-12
YAH-15 408 2800 70 52 147(15) CAH-15,1821,24

Outward Drawing/#} ZIE/AFE/ 2 8 =

-l

L15

oo

L

-
=
=

YAH-05

24 | www_seoam Kkr



Outward Drawing/4} EIE/ AP 2 8 =

YAH-06,08,10,12,15

3
— S =
Dimension/R~I /A& X 4+ & =
sy *™®% C D E F G H J K M N ) P Q g
YAH-05 110 95 65 - 45 36 90 55 65 40 31 - 76 =
YAH-06 163 130 100 80 65 50 108 822 74 50 46 53 98 =4
YAH-08 195 170 130 90 70 55 120 912 82 56 52 60 110 =
YAH-10 218 190 160 120 9 80 145 1162 107 8 77 85 135
YGH-10 223 190 160 125 100 86 167 1212 112 87 82 90 154
YAH-12 247 215 180 135 110 9 167 1312 122 96 91 100 154

YAH-15 307 275 230 170 140 123 212 167 160 1346 1175 135 198

odemy  "OTEE L1 L2 L3 L4 55 L6 L7 L8 L9 L10 max L10 min L11 max L11 min
YAH-05 77 14 16 - 5 25 - 5 84 22 12 13 3
Y AH-06 1235 1 825 615 15 30 6 5 1135 34 19 15 0
Y AH-08 130 12 885 55 15 30 6 5 1195 39 19 20 0
YAH-10 143 12 g8ls 55 15 35 6 5 1265 44 19 25 0
YGH-10 1495 14 955 55 15 35 6 5 1285 44 19 25 0
YAH-12 1625 14 1085 55 15 35 6 5 1415 49 19 30 0
YAH-15 165 20 99 6 20 45 9.5 6 1737 405 175 24 1

woremy  CM¥E 112 L13 L14 L15 L16 T1 T2 T3 T4 T5
Y AH-05 137 76 - 100 50 6-M6X14 M38XP 15 - PT-1/4 M4xX7
Y AH-06 178 75 36 120 40 6-M10X18 M55XP2.0 M52XP 15 PT-1/2 M5X10
Y AH-08 186 81 36 130 40 6-M10X18 M60XP20 M58XP15 PT-1/2 M5X10
YAH-10 205 95 36 150 40 12-M10X18 M85XP20 M84XP20 PT-1/2 M5X10
YGH-10 217 107 36 166 40 12-M10X18 M90XP20 M89IXP20 PT-1/2 M6X10
YAH-12 230 107 36 166 40 12-M12X22  M100XP2.0 M99XP20 PT-1/2 M5X10
YAH-15 2525 134 36 215 40 12-M16X32 M130XP2.0 - PT-1/2 6-M6X10

YLIH L) - L YAS []-CJLIL]

.....................................

Cvlinder Size  Blank | Standard Cylinder Size
CA | Coolant Collector

: Blank | Standard
Cylinder Model A | Big Bore(EZEH) C | Check Valve Type
G | Great Bore(CH &S &) P | Proximity Switch Type
T | Check Valve + Proximity Switch Type

CHUCK | 25



SUPER HIGH SPEED BIG BORE HYDRAULIC CYLINDER
BARIHI BEER 2y aEY )y & /2104 S22 Mg

1 - Compatibility The mounting face and major parts are mutually compatible with YAH
type cylinder. 2 - Small Size & Light Weight It is 30% shorter than YAH type cylinder
sothatitis small in size, light in weight and high speed rotation. 3 - Safety Guaranteed It
contains check valves so that pulling force is kept for a certain time upon power failure,
securing safety. 4 - Leakage Prevention Design(Patent Registration:0172805)
Cylinder body is designed with a leakage prevention structure to totally eliminate the
possibility of leaking. 5+ Highest Draw Pull As weight is reduced and draw pull is
increased, it gurantees the best machining efficiency and stronger power.

1 STRAN S YA BT S SRR OHRAYE. 2. fhRh, E85  SYAHRUBTIALKESERT 0%,
FEARD, E8E, SEUIRE 3. RETe O ITTESER SR, EOio i aE
EgRL . 4 it (R 0172805) | BRI BEES R, T HPRRA TR
5+ FEA : S M ESRE RAIAR, (ol Sa tWUAm SseA = 1.

1. BifsR 2. /|84, BE(k 3. 2R 4 BEREEGEEE 5B 528MMN
1-584 48 2-488 288 3. 91 8% 4. S3uK YA(SHS50172005) 5- 53 Hf 53

Specifications /#F&/ /AL E
g SpecAtd i i : i Piston surface area Max. Draw bar pull
§ OQr(Ij:?LiNio . %’l;—}g_ﬂ“%a ;ﬁ_ﬁ%]f_gogg T‘Lrélglc:'lh'_el-;lga OAE CHHE of AIH =3 KN(kgf)
= Modef&iAl - mm mm mm Extend2%  RetractQl®  Extend %%  RetractQ%
0 YSH-05 2SH05 105 15 36 67.15 64.47 25(2549) 24(2447)
g YSH- 06 2SH06 130 16 46 107.29 95.53 39(4025) 35(3586)
= YSGH-06 2SGHO06 145 25 52 135.61 126.64 33.1(337) 30.8(147)
E YSH- 08 2SH08 156 22 52 159.77 148.62 57 6(5879) 53.6(5469)
YSGH-08 2SGHO08 170 25 68 179.6 166.2 66.8(6814) 61.8(6306)
YSH-10 2SH10 185 25 77 209 193.9 77 9(7944) 72.1(7357)
YSGH-12 2SGH12 215 35 103 262.3 245.9 850(8667.2) 79.7(812786)
YSH- 15 2SH15 250 23 117.5 364.4 331.8 129.8(132334)  118.2(12050)
YSHL-15 2SHL15 250 50 117.5 364.4 331.8 129.8(132334)  118.2(12050)
YSH-21 2SH21 280 51 166.5 3721 3271 111.5(11376) 98(10002)
YSHL-21 2SHL21 280 51 166.5 372.1 327.1 1115(11376)  98(10002)
SpecAly ~ Max. operating Max permissble Total leakage Weight GD? :
ATNERYE  HINESHS = E 53 Moment of inertia M1 ehuck
Model&Al kgf/on r.om(min ') £/min kg N-m (kaf. )
YSH- 05 40.8 8000 3 7.3 0.09(0.010) CAH-05
YSH- 06 40.8 7000 3 9.5 0.20(0.021) CAH-06
YSGH-06 279 6500 3.9 127 0.30(0.031) CGH-06
YSH- 08 40.8 6200 3.9 135 0.39(0.040) CAH-08
YSGH-08 40.8 5600 4 16.5 0.63(0.065) CGH-08
YSH-10 40.8 5000 4.2 16.8 0.81(0.083) CAH-10
YSGH-12 40.8 3500 6 36 18.0(1.84) CGH-12
YSH-15 40.8 3000 7 52 18.6(1.9) CAH-15,18,21,24
YSHL-15 40.8 3000 7 52 18.6(1.9) CAH-15,18,21,24
YSH-21 336 2000 8.4 77 29.43(3) CAH-21,24

YSHL-21 336 2000 8.4 77 29.43(3) CAH-21,24




Outward Drawing/4} EIER/ AR 2 & =

L0 2

A
= L~

L3

LM
.
al
2K
"

M
a0
ol b
I
e
M
T

T

[E PT-1"

L ox =
YSH-05,06,08,10,15  YSGH-08

T
[REEN]

Dimension/R~I /A& X+ & 2
tem&t=

e c D E F G H J K M N 0 P Q -
YSH-05 137 115 100 65 48 38 108 76 64 42 36 45 98 S
YSH-06 165 130 100 80 65 50 108 825 74 50 46 53 08 2
YSGH-06 180 165 140 80 70 55 135 9 85 595 52 62 110 &
YSH-08 190 170 130 90 70 55 126 90 81 56 52 60 13 =
YSGH-08 210 190 160 120 85 70 154 111 100 715 68 75 145 o
YSH-10 222 190 160 120 95 80 164 121 10 8 77 85 155 g
YSGH-12 263 225 200 145 120 106 202 148 135 108 103 112 190
YSH-15 307 275 230 170 140 123 216 167 152 122 1175 125 198 =
YSH-15 307 275 230 170 140 123 216 167 152 122 1175 175 256 Q
YSH-21 354 290 260 240 190 170 278 217 205 1705 1665 175 o5 =

YSHL-21 354 290 260 240 190 170 278 217 205 1705 1665 175 256

T~ | L2 L3 L4 L5 L6 L7 L8 L9 L10max L10min L11 max L11 min
YSH- 05 94.2 8.9 69 6 15 25 7 5 995 36 21 15 0
YSH-06 973 7.4 725 6 15 30 7 5 102 37 21 16 0
YSGH-06 99 9 755 11 10 20 121 8 102 83 58 22 -3
YSH-08  100.1 8.9 74 6 15 30 7 5 1052 43 21 22 0
YSGH-08 1052 127 76 5 15 35 7 5 1025 46 21 25 0
YSH-10 1152 127 86 5 15 35 7 5 1125 46 21 25 0
YSGH-12 148 14 1085 55 15 30 7 5 155 55 20 35 0
YSH-15 1415 185 102 6 20 45 985 6 163 463 233 24 1
YSHL-15 1685 185 129 6 20 45 985 6 190 76 26 46 -4
YSH-21 1825 185 139 7 20 45  9.85 5 200 763 253 51 0
YSHL-21 1825 185 139 7 20 45 9.85 5 200 763 253 51 0

CTE 12 18 L4 U5 L6 T T2 T3 T4 T5

ModeI & Al

YSH-05 134.1 66.5 34 115 55 6-M10X18 M42XP 1.5 M44XP 15 PT-3/8 4-M5X10
YSH- 06 135.6 78 42 120 99 6-M10X18 M55XP 1.5 M52XP 1.5 PT-1/2 4-M5X10
YSGH-06 138.5 86 40 130 55 12-M10X17 M60XP 1.5 MB0XP 1.5 PT-3/8 4-M6X6
YSH-08 140 80 36 130 55 6-M10X18 M60XP20 M58XP 1.5 PT-1/2 4-M5X10
YSGH-08 155 88 40 149 55 6-M10X18 M75XP20 M74XP15 PT-1/2 4-M5X10
YSH-10 165 925 40 165 55 6-M10X18 M85XP2.0 M84XP20 PT-1/2 4-M5X10
YSGH-12 211 126 40 195 55 12-M12X20  M111XP20  M111XP20 PT-1/2 4-M6X15
YSH-15 214 140 40 215 55 12-M16X32 ~ M130XP2.0  M124XP2.0 PT-1/2 4-M6X10
YSHL-15 241 140 40 215 50 12-M16X32  M124XP2.0 M111XP20 PT-1/2 4-M6X10
YSH-21 259.5 6 40 250 55 12-M16X32  M180XP3.0  M173XP2.0 PT-1/2 4-M6X10
YSHL-21 259.5 .6 40 255 55 12-M16X32  M180XP3.0 M173XP2.0 PT-1/2 4-M6X10

CHUCK | 27



YIANNAD JINMNVHAAH -~ &9

COOLANT COLLECTOR
BEPRNER/4-5v L 94— /2HE S

1 - Coolant Collection Attached to the rear part of the great bore
cylinder, it performs the role of collecting and circulating coolant used
during machining. 2 - Checking Cylinder operation As proximity
switchs(2E A) in non-contact method detect the location of detection
ring assembled to the end of piston and check whether cylinder is
operating, it can be used for interface of automated devices as well as
prevention of danger.

1. BRRDR  RER REARAERBIING, AR R T ies AN R0 R
2 WM EREBTIRE T o T BT KA FBMA F RN TR B ER IR B E,
F M IR CER &1 €5 e hREERA Mes R 5 TR RER
i

1-UHMHEN 220 & -{EEiERTES

1. @M% 8% 2. 480 3539 &2l

T3

233 16 21

CA| Coolant Collector / RHRNER/ -5 | L4 4~/ STUE SH

Dimension/R~/EHR/A T &

T i T1 T2 T3 T4 T5 Z1 z2 Matc hing Cylinder/& 41215
CA-06 90 ®88 $94 ¢ 121 61 745 36.5 YSH/'YAH-06
CA-08 100 $100 $ 106 ¢ 132 67 795 36.5 YSH/YAH-08
CA-10 126 $125 $132 ¢ 158 80 84.5 37 YSH/YAH-10
CA-12 142 $143 ¢ 154 ¢ 180 95 88 37 YSH/YAH-12
CSG-08 142 $143 ¢ 154 ¢ 177 925 88 37 YSGH-08
CG-10 142 $133 ¢ 154 ¢ 177 925 88 37 YGH-10
Cs-15 190 $185 ¢ 186 ¢ 210 117.5 102 35 YSH-15

Cylinder Size

28 | www.seoam kr



YAS CLOSED CENTER HYDRAULIC CYLINDER
O Hil/ B EE O REY ) v & - /155 4E 3

MR MBI

1+ Economical Model Itis the most economical model and when a bar workpiecs is not
passed through headstock. 2 « Horizontal-Vertical Type Available As it can be
installed horizontally and vertically, it is mainly used for a vertical lathe. 3 - Small size &
Light weight By using auminum alloy of mold casting method, it is simple, small in size,
and light in weight. 4 - High Speed Rotation Safety isensured at high-speed rotation by
thorough balance management.

1478 : k- RR-RELFENER L EIHAFITHENEATER. 2. kT52E
ZET | HESHER BB Tk PR ETEETE. At TRREUREREL. 3 - i),
EEE HASHEEMIRAGoHEN ST, RILBREWEES, i EEENHS.
4. gt - A FAAENER BITESEIENE R T aRRE T

133 T 2. }TEEERFTEE 3. )88 4- B80Hz

1-Zm= 29 2.5". 23 A2 328 #ys 4. 3%535H

Outward Drawing/4 IR/ AFE 2 & =

2
5
=
=

Dimension/R~/J#&/ A+ &

ooy ™% C D E F G L1 L2 138 4 L5 L6 Lima L7mn  TI T2
YAS-65 100 80 60 20 13 145 111 65 - 1005 30 45 30 6-M8X16 M12XP1.75
YAS-80 110 90 65 25 17 145 111 65 - 1005 30 45 30 6-M8X16 M16XP2.0

YAS-100 135 100 80 30 21 168 134 815 65 1235 35 45 25 6-M10X19 M20XP2.5
YAS-125 160 130 110 35 25 178 144 915 65 1335 40 50 25 6-M12X22 M24XP3.0
YAS-150 185 130 110 45 305 185 151 985 65 1405 45 55 25 6-M12X20 M30XP3.5
YAS-200 245 145 120 55 37 2085 1745 122 65 164 60 69 34 6-M16X29 M36XP4.0

Specifications /H&/ R/ A Y E

Spec.AY Cviinder Dia Piston stroke Piston surface area Max. Draw bar pull
s NEEDE IAEAERT DAE CHAR o Al %2 KN(kaf)
Model&/A! e mm mm Extend2%  Retract®l%  Extend2Z  Retractol=
YAS-65 2AS06 65 15 330 300 122(1245)  11.2(1443)
YAS-80 2AS08 80 15 50.0 450 184(1877)  16.5(1684)
YAS-100 2AS10 105 20 865 795 31.8(3244)  29.3(2989)
YAS-125 2AS12 130 25 1325 1230 48.8(4978)  453(4621)
YAS-150 2AS15 150 30 1760 1600 64.8(6610)  60.0(6120)
YAS-200 2AS20 205 35 3300 3060 1216(12404) 1128(11505)
SpecAl¥  Max. operating pressire  Maxpermissiblespeed  Totalleakage Weight GD? :
LRV ELIE EJRINCETSEN S olgt 5% Moment ofinertia  MAIZL8 chuck
Model&Al kdf /ori rp.m(min™") {/min kg N- m(kgf.m) -
YAS-65 408 6000 1.0 3.2 0.11(0.011) CAS-04
YAS-80 40.8 6000 1.0 4.3 0.29(0.03) CAS-05
YAS-100 40.8 6000 1.0 5.3 0.49(0.05) CAS-06
YAS-125 40.8 6000 1.0 7.4 0.88(0.09) CAS-08,CAS-10
YAS-150 40.8 5500 1.0 10.3 1.47(0.15) CAS-10,CAS-12
YAS-200 40.8 5500 1.0 195 3.62(0.37) CAS-15 0|4}

CHUCK | 29



CLOSED CENTER HYDRAULIC CYLINDER(CHECK VALVE Type)
POl (o) (e oA — (F o o DT | D4 548 MG RAE (382 UEE)

1 - Safety Guaranteed It contains check valves so that pulling force is kept for a
certain time upon power failure, securing safety. 2 «+ Easy Repair & Check
Thanks to easy access of chuck valves from outside, it is possible to repair and
check them while cylinder is attached to the equipment 3 « High Performance
and High Quality It contains check valves in YAS cylinder, having excellent
performance and quality, and its parts are compatible with YAS.

YASC

1-REZE KRR MIHEE AR, S, EHNTRE—RIE RLERTE. 2+ BT @0 %
BT EHREROR, SREniT B &L AR HEEmEN. 3 - Ml REF R
St HLEHE AR N YAID L. HER MTHAR A8 L E, E MRS vASERE.

1- 227 2- @0 aD 3-8l BRE

1-99 g9 2-248400 80 3-145 18F
2 Outward Drawing/4 BB/ 2 & =
s LS
s L4 S L3 - LE
g _2-pTa/m
§ - 79 - | —
= s
A
g 0 N = Bl i
E = [}
= f =~
=2 g 5 1 e I LEEE
! Y !
N
\
' 8 N 1
B e | '
\ ~,
o3 _| . PT /4 .. - i
T
L2 s
L1 3 L7

Dimension/"~H/ &/ 4+ &

Mogeima ™5 C D E F G L1 L2 L3 L4 L5 L6 L7max L7 min T T2
YASC-100 135 100 80 30 21 198.5 164.5 815 37 154 35 45 25 6-M10X19 M20XP2.5
YASC-125 160 130 110 5 25 208.5 1745 915 37 164 40 50 25 6-M12X22 M24XP3.0
YASC-150 185 130 110 45 305 2155 181.5 985 37 171 45 55 25 6-M12X20 M30XP3.5
YASC-200 245 145 120 55 37 239 205 122 37 1945 60 69 34 6-M16X29 M36XP4.0

Specifications /A& /TR A Y H
Spec.AtY Order NO. Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
e RHETE! [AEAERD TAE HEH o i £ KN(kaf)
ModeRiAl e mm mm Extend®%  Retract®l®  Extend2%  RetractQlS
YASC-100 2ASC10 105 20 865 795 31.8(3244) 29.3(2989)
YASC-125 2ASC12 130 25 1325 1230 488(4978)  453(4621)
YASC-150 2ASC15 150 30 1760 1600 64.8(6610) 60.0(6120)
YASC-200 2ASC20 205 35 3300 3060 1216(12404) 1128(11505)
Spec M \1ax operaing pressure Maxpermissblespeed  Totalleakage Weight GD? Matching chuck
AT AS Y ZDAEE M SE| Q¥ % Moment of inertia e
ModelZA! ko /ar rp.m(min ") ¢ /min kg N- mikaf.m) A8
YASC-100 40.8 6000 1.0 7.0 0.49(0.05) CAS-06
YASC-125 40.8 6000 1.0 9.8 0.88(0.09) CAS-08,CAS-10
YASC-150 40.8 5500 1.0 133 1.47(0.15) CAS-10,CAS-12
YASC-200 40.8 5500 1.0 21.7 3.62(0.37) CAS-15 O|A+

30 | www.seoam kr



CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
ST AR B 24 — BB o PR PR 14 A S R AT (ZE AN A 74 J15E)

1 - Detection of Operating Location With attached proximity switch, itcan be
used for interface of automated devices because it is able to detect the movement
of cylinder pistons. 2 « Miniaturization & Lightness As it adopts non-contact
method of smal detection rings, it is hardly defective and has excellent safety at
high speed rotation. 3 + High Performance and High Quality With a proximity
switch attachedto YAS cylinder, it guarantees excellent performance and quality.

1 WMETHER : T HESERIIREETX, 75 BxhiThlREAEE, FEMNEF R
HEENETER. 2 0, E8E | REFBILFAIHMMESIIF, BRHERE
AeEitn e, 3. Makt, HEY : tESHERBILEHEER Y ASHER B
il RETR EREHHAENRE.

1. B 2. RS 3- Bl BRE

1-3% 9% & 2- 48 Zuys 3185 1FF

Dimension/R~I/<EEK/ A+ &

ey °"¥FC D E F G LO L1 L2 L3 L4 L5 L6 L7max L7min T1 T2

YASP-100 135 100 80 30 21 236 155 134 815 65 1235 35 45 25 6-M10X19 M20XP25
YASP-125 160 130 110 35 25 246 165 144 915 65 1335 40 50 25  6-M12X22 M24XP30
YASP-150 185 130 110 45 305 253 172 151 985 65 1405 45 55 25 6-M12X20 M30XP35
YASP-200 245 145 120 55 37 2765 1955 1745 122 65 164 60 69 34 6-M16X29 M36XP4.0

Specifications /4F&/ /AL &

SpecAlY¥ Cylinder Dia Piston stroke Piston surface area Max. Draw bar pull
OuerNO  Waldyy  masAee3 TAE S o A2l 2 KN(kof)
TE O
Modef& Al mm mm Extend 2% Retract 91 % Extend 2% Retract 915
YASP-100 2ASP10 105 20 86.5 795 31.8(3244) 29.3(2989)
YASP -125 2ASP12 130 25 132.5 123.0 48.8(4978) 45.3(4621)
YASP -150 2ASP15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASP -200 2ASP20 205 85 330.0 306.0 1216(12404) 1128(11505)
SpecAt¥  \ax operaing pressure Maxpermissblespeed  Totalleakage Weight GD? Matching chuck
AT AE Y EINPN =3RS e E== L EE Moment of inertia e
Model /Al kaf /o rp.m(min’') {/min kg N-m (kaf.m) e
YASP -100 40.8 6000 1.0 58 0.49(0.05) CAS-06
YASP -125 40.8 6000 1.0 7.9 0.88(0.09) CAS-08,CAS-10
YASP - 150 40.8 5500 1.0 108 1.47(0.15) CAS-10,CAS-12
YASP -200 40.8 5500 1.0 20.0 3.62(0.37) CAS-150|4A¢

CHUCK |31

2
S
=



YIANNAD JINMNVHAAH - b9

CLOSED CENTERHYDRAULIC CYLINDER( CHECK VALVE+PROX IMITY SWITCH Type)
R SRR - (o ANV » PR 151 ST 420 382 U 2229050 153

1 - Combined Structures It has a combined structure (YAS C+YASP
Type)with built-in check valves and attached proximity switch in Y AS-
type cylinder. 2 - Small size & Light Weight With YAS-type cyiinder
as a basic specification, it is hardly defective and guarantees excellent
safety at high-speed rotation. 3 - High Performance and High
Quality With check valves and proximity switchs, it guarantees
excellent performance and quality.

1. 56513 - RNERARNEBATAT R AR L, BHEEEESHN
(YASC+YASPRDEIFHAT. 2 « fFL), BEH : ItESEHEFILLYASEZE BLHIAE
HER, fRh, RESEIENT M. 3. HaHt REY  HESHEMITHES
BIFHRET X RIRIEL B LRI E.

1-Eonigs 2. )2858lt 3- B, BRE

1.2850 75 248 Zus 3145 1EF

Dimension/R~I/<E&K/A+ &

NodeA YR | © D E & G Lo L1 L2 L3 L4 L5 L6  L7max L7min T1 T2
YAST-100 135 100 80 30 21 2666 1855 1645 81.5 37 154 35 45 25 6-M10X19  M20XP25
YAST-125 160 130 110 35 25 2765 1955 1745 915 37 164 40 50 25 6-Mi12X22 ~ M24XP30
YAST-150 185 130 110 45 305 2835 2025 1815 985 37 171 45 55 25 6-M12X20  M30XP35
YAST-200 245 145 120 55 37 307 226 205 122 37 1945 60 69 34 6-M16X29 ~ M36XP40
YAST-200S 245 222 120 55 37 2895 206 1875 1045 37 177 60 69 34 12-M16 M36XP4.0
YASTL-200 245 145 120 55 37 3365 2385 220 137 37 2095 60 80 30 6-M16 M36XP4.0
YAST-245 305 220 160 65 50 397 302 256 166 45 249 67 85 25 6-M20X30  M42XP30
YAST-250 314 282 160 65 46 397 302 256 166 46 249 67 85 25  6-p18THRU M42XP30
YAST-2508 305 275 160 65 50 3285 207 178 145 - 1745 60 85 25 12-M20 M4 2XP30
Specifications /#F&/ SR/ At E
Spec.AlRF i P i Piston surface area Max. Draw bar pull
S Yeicitna TAEALES TIAE SR o ey £ Ko
Model&fA! e mm mm Extend 2% Retract Q1% Extend 4= Retract Q1%
YAST-100 2AST10 105 20 86.5 795 31.8(3244) 29.3(2989)
YAST-125 2AST12 130 25 1325 1230 48.8(4978) 45.3(4621)
YAST-150 2AST15 150 30 176.0 1600 64.8(6610) 60.0(6120)
YAST-200 2AST20 205 35 3300 3060 1216(12404) 1128(11505)
YAST-200S 2AST20S 200 35 330 306 121.6(12404) 1128(11505)
YASTL-200 2ASTL20 200 50 330 306 121.6(124.04) 1128(11505)
YAST-245 2AST24 245 60 4708 4382 173217671.9) 161.2(16450.2)
YAST-250 2AST25 250 60 4902 4577 179(18400) 169(17200)
YAST-2508 2AST25S 250 60 4815 450 180(18270) 167.3(17078)
Spec. Alf  Max. operating pi Max g issible speed Total leak age We ight GD? Matching chu ck
ZDAIB R DAL E| 4 & =ry| ol B Moment of inertia
Model&A] kg f /ot r.p.m(min’’) £ /min kg N-m (kg f.m)
YAST-100 40.8 6000 10 75 0490.05) CAS-06
YAST-125 40.8 6000 10 10.3 088(0.09) CAS-08,CAS-10
YAST-150 40.8 5500 10 13.8 147(0.15) CAS-10,CAS-12
YAST-200 40.8 5500 10 222 3620037 CAS-150[4At
YAST-200S 40.8 5500 10 24 042005 CAS-150[4
YASTL-200 40.8 5500 10 24 042(0.05) CAS-150]4
YAST-245 40.8 2000 1.0 38 - CAS-4050,63
YAST-250 40.8 2000 10 38 - CAS-4050,63
YAST-250S 40.8 2000 1.0 38 - CAS-4050,63

32 | www.seoam kr



YM S CLOSED CENTER HYDRAULIC CYLINDER(PROXIMITY SWITCH Type)
T ST e A4 - R 1+ FARTHARED (14548 B4R (ZHARK 72)

1. Short Length(Flat Type) As the length of the cylinder is short, the length of equipment is
short Thus efficiency rate is high. 2 « Center Through Hole Secured The through hole at the
center axis of the cylinder can be utiized for coolant or air spray. 3 - High Operation Speed By
minimizing the cil path length and enlarging the oil path diameter, high operation speed of the
ciinder is achieved 4 - Safety Guaranteed With buit-in check valves, pull force is kept for a
certain time upon power failure. Thus safety is secured. 5 - Detection of Operating Location
With a proximity switch attached, it can be used for automation interface by detecting the movement
of the piston.

1 bR, ERENRERBNNEL WMRaEUY. 2 EMINPUIbVIRAR HYR]
WRET WG LSEER (6). 3 - BIlASBIKEARE ML, §ARKE, NS ET.

4. tEEEMTHE AR, S, EONTRE—5TE BigRte. 5 dTHESEE T HERaT
X 5 e RS, REMOETAZN TR

1-Repfn () 0) 2. v BHUER 3. B5EE 4- 2298k 5 FEUERL

1-Z017h #e (4g) 2- 34 152 g9 3. 25359 57 4- 48 g2 5. 5 X U

Outward Drawing/4} EIER/ AR 2 & =

2
S
=

BGHA
2F
@E h7
a0
ac

L2

Dimension//"~H/J%/ x| 4+ &

i BCH HEN HER BEN BGH H J K M L1 L2 L3 L4 L5 L6 L7mxl7mn L8 L9 TI T2 T3
YMS-105-15 180 128 85 36 21 6 16 18 28 130 1175 57 135 46 28 53 38 23 25 6-M10 M20XP25 PF3/8
YMS-120-20 192 150 120 36 21 6 16 18 28 139 165 65 155 46 28 53 33 23 25 6-M10 M20XP25 PF3/8
YMS-135-20 225 160 120 36 21 6 16 18 28 139 165 65 155 46 28 58 38 23 25 6-M10 M20XP25 PF3/8
YMS-140-25 225 160 120 36 21 6 16 18 28 144 1315 70 155 46 28 58 33 23 25 6-M10 M20XP25 PF3/8
YMS-150-35 250 175 120 40 25 6 20 18 28 164 1515 90 225 46 28 63 28 23 25 6-M12 M24XP30 PF3/8

Specifications /4F&/ R/ ALY &

Spec.AtY¥ Cvlinder Dia Piston stroke Piston surface area Max Draw bar pull
OuerNO. Wiz  mAEAEz3 [AE A or Al %2 KN(kaf)
Model& 4 S mm mm Extend 2% Refract 91% Extend 2% Refract 91 %
YMS-105-15 2MS10 105 15 830 764 31.2(3183) 28.7(2930)
YMS-120-20 2MS12 120 20 1095 1029 41.2(4200) 38.7(3946)
YMS-135-20 2MS13 135 20 1419 1329 53.4(5442) 50.0(5097)
YMS-140-25 2MS 14 140 25 1539 1437 57 .9(5902) 54.1(5511)
YMS-150-35 2MS 15 155 35 1886 1761 70.9(7233) 66.3(6754)
Spec.AtY¥ Max. operating pressure  Maxpermissible speed Total leakage Weight GD? Matching dhuck
I AE YUY FDAE3 M = NE i Moment of inertia Hex
Model&Al kat /o ro.m(min”") ¢ /min kg Nem (kgf.m) B
YMS-105-15 40.8 6000 1.0 11.0 1.52(0.16) CAS-06
YMS-120-20 40.8 5000 1.0 11.8 2.11(022) CAS-08
YMS-135-20 40.8 5000 1.0 13.2 3.20(033) CAS-08,CAS-10
YMS-140-25 40.8 5000 1.0 145 3.92(040) CAS-10,CAS-12
YMS-150-35 40.8 4200 1.0 175 4.60(047) CAS-12

CHUCK |33



3-JAW SCROLL CHUCK
SMERLFR/3 O #BF ¢ v 9/5-52 oS

1 - General Model This chuck, with bothKS and JIS Standard, is most widely used for
general purpose lathes. A separate adapter is used when attached to a lathe.

2 - High Quality & Long Durability Internal stress and deformation have been
precluded by using high quality cast body. The major parts are made of heat-treated
alloy steel Good durability has been achieved due to extended abrasion resistance and
improved quality. 3 « Compatibility Compatibiity of major parts such as ajaw has been
enabled thank to quality standardization and precise dmension management 4 « Parts
External jaws are attached to the chuck and internal jaws, fastening handles and
mounting screws areincluded as standard parts.

1-ERE : FAFGKSUSING [ ZRTERARBNER L. AERNEEZ =25

2. REN, fA%SK ARG RERME, Bit, THEANNFANTR. Bk
HRRAT RN S SNITR, BIEERER WER fASS KNS 3- #5516
THE MEARTERSGNENTE BRFENIBMHU-FNEEERSH. 4 - B
tf: BE B ZERF TR, BNRRE AL EREMXRNY RS
1RVt 2- BRE, RyFo 3-BfEU 4. NER

1o7bs uts 29 2. 18 2 2y 3384 4.94F

Specifications /ATF&/ TR/ AL &

Spec.AY Thru-hole  Gripping

Order  Chuck size Dia Force Gripping Dia ZtetA Weigmt I_Aaxfrmsible,s‘:nﬂ

R} olis e #53  mom Extrnal 2) Internal (2) D
Moder 4 mm kaf MAX.mm  MN.mm  MAX.mm  MN.mm :

Z MS-3 00103E 85 16 900 70 2 64 24 1.5 2500
> MS-4 00104E 110 24 1200 95 3 84 29 35 2500
z MS-5 00105E 130 32 1500 110 3 100 33 45 2500
JC> MS-6 00106E 165 45 3000 160 3 150 48 75 4000
— MS-7 00107E 190 55 3600 180 4 170 56 115 3500
@) MS-9 00109E 230 70 3900 220 5 210 62 19 2900
E MS-10  00110E 273 85 4500 260 5 250 70 26 2500
A MS-12  00112E 310 96 5400 300 10 290 86 38 2200
A MS-14  O00114E 355 100 4050 315 25 290 107 54 1500




Outward Drawing/4}EIE/ ARIEY 2 8 =

oooomr
')

Dimension/ R~/ #&/ A+ 1

85 45 73 60 16 7 35 35 1

MS-3 146 3-M6 3
MS-4 110 58 95 80 24 8 45 176 3-M8 42 14
MS-5 130 60 15 100 32 8 45 20 3-M8 50 16 Z
MS-6 165 65 147 130 45 10 5 25 3-M10 65 19 >
MS-7 190 75 172 155 55 1 5 30 3-M10 75 2 %
MS-9 230 84 210 190 70 12 6 35 3-M12 85 24 >
MS-10 273 86 250 230 85 12 6 40 3-M12 98 28 R
MS-12 310 9% 285 260 9% 14 7 45 3-M12 110 30 T
MS-14 355 110 328 300 100 14 7 63 6-M12 133 35 %
A~

MS -

Chuck Size

Blank | Standard
T | 2-jaw type
F | 4-jaw type
S | 6-jaw type
U | Twopiece jaw type




MDNHD TVANVINL 9

MST - MSF - MSS Errievrys-imiywoss

2 Jaw Scroll Chuck (MST-Type)
*« Good for machining irregular
workpieces such as valve parts, pipe
connection parts, efc.

B R NTRANSHE, BFE
éi#éz%ﬁihul%ﬂi REHEHN

2 S EEF v v

2 22 HUEH(MST-Type)

4 Jaw S

25K ]

» Clamping Irregular Works Diverse scroll chucks suitable for all shape of works
are available, which can give you the improved precision and productivity. Since it is
manufactured and managed the same as the standard MS type scrall chuck, it
gurantees high quality, long durabiity and compatibility. Itis classifiedinto 2Jaw (MST),
4Jaw(MSF) and 6Jaw(MSS) in accordance with the number of attached jaws.

EEFTPNTY  AERENEE OFETE SEMPANTY, AELEES THYEES. L85
MSEIFEEERMEF TG BEERES FAGs KRBIEMES. REFELFTHE
8RR, THARIT(MST), BT (MSF), FIsTUMSS) BSEAFE.

BT R TR oSk S SEBF v v SBEET 0T, MTRESEEF AL $T. 2
HERIMSREEENT ¢ v S B L& SEBELBEANT A 0 TERE REn, BIMIErEgct+. |
i cE3 Moz &0 220 MST), 42/TUMSF), § 2M(MSS) RSN .

Y2 E mot. IR Z HAN U UENS MHGIOR IZHUT o $M X HAHO| BMEL
Ch EF8 MSE UENT SYUsHH MEE D H2Log 12T 2 49, 384 S0| Y5t gatg
= 799 230 02 252 (MST), 4E2 (MSF), 6E2MSS)Z FEELICH.

croll Chuck (MSF-Type) 6 Jaw Scroll Chuck (MSS-Type) - Itisconvenient

It is convenient for machining
square workpieces. It minimizes the
deformation of thin circular
wokpieces such as pipes.

AN FE T AR TED fR
MM TR . FREENTE TS
RENBR NI, THEAR&)
HEI .

4 DJEEF ¥ v o

4E2 HEH (MSF-Type)

for machining hexagonal workpieces and suitable for
heavy duty machining that requires strong gripping
force, It minimizes the deformation of thin circular
workpieces such as pipes.

6 MRS F4 s AR IES, AERPIHIZET
ZENHEANIS. FREENTEFEFRENBIINT
mbf, TRERES MBS

6 2B F+v o
6 2 HUEH (MSSType)

Outward Drawing/#} EIE/ARIE/ 2 & =

— i i

) il il

I ]

5lelg|y ____<_\|,./_>_ .¢_ __} _' lL_
1 o 9@ A %
B = < B
'- L -
(] L
MST-7.9.10,12,14 MSF-7,9.10,12,14 MSS-10,12
Dimension/R~F/<hEE/ A+ &

Mada i tengm A B c D E F G H | J K
MST-7 MSF-7 190 75 172 155 55 1 5 30 3-M10 75 2
MST-9 MSF-9 230 84 210 190 70 12 6 35 3-M12 85 24
MST-10 MSF-10MSS-10 273 86 250 230 85 12 6 40 3-M12 98 28
MST-12 MSF-12MSS-12 310 9 285 260 9 14 7 45 3-M12 110 30
MST- 14 MSF- 14 355 110 308 300 100 14 7 63 6-M12 133 35

36 | www.seoam kr



TWO PIECE JAW SCROLL CHUCK
PHTIEFER N BB TR/ nBEEEF v v 5/22 228 08

M

1 - Jaw Detachable Scroll Chuck It has an improved structure from standard scroll
chuck model so that jaws can be detached, and thus the scope of has been enlarged.
2 - Easy in Precise Processing It is good in exchanging preciseness by grinding
serration part, and is very easy in precise proc essing since it use formed soft jaws.
3 - Contribution for Increasing Performance With hard jaws attached to the entity,
vou can perform internal /external clamping(circular sticks and ring type) without
replacing jaws so that the performance is improved. 4 - High Quality, Long
Durability High quality casting body prevents the stress and deformation, and since the
major parts are made of heat-treated alloy steel, the abrasion resistanc e, quality and the
durability are improved and extended. 5 - Compatibility Attached parts, specification
and size are the same with MS Type, and the Jaw configuration is improved to increase
the work performance. Jaws are easy to replace, and the major parts of scroll chuck
and jaws are c ompatible with MS’s so that the work scope is wide. Uniformity in quality
Rl and the exact size management make the exchange of major parts possible. 6 < Parts
Hard jaws are attached to the chuck and soft jaws, fastening handles and mounting
screws are included as standard parts. Additional soft jaws, hard jaws, handes and MS
Type internal and external jaws can be purchased separately.

15N - iFENGBEIMER § R O-FENEM LB, FNTRT. ENANEER
2. 2+ BTRENT : kFREWRENALSORUTRE. dFEA TSN BRRATRIT.
3. MERE : FANENSFEMEE ENTRENIFVTHN) AREHEGESN, FUailAxEsdies, RIAMRAAES. 4- BB, AR
s KRTARBRASIEARIHE, B, TPEANDFENTR. EMHERSd RN EEMA BRAERES, WER, SRSk
WS, S« REM - HTANER M8, RTSMSE—X, B-HMNEBRE, RitkisArdts, FNATESR. R-FENTEHHRNS
ﬁsg%%,Tiﬁﬁ—%EEWEEEMEiﬁRT RitEEREM. 6 - W B REEERFRTRRE, BNTREFEAL. SEHAXRNK
] s,

1. MnEEEs 7 v v o 2-F2NTES 3 4EUELCFS 4. BRE FEv 5 Bflt 6- NE®

152 2218 WSy 2. HUIZ 80| 3-M4Y B4l 710 4. DEE, A4 5-584 6. ¥4F

Outward Drawing/4} EUER/ AR @ & =

<
=
&
>
=
0
I
c
a)
=

MSU-7,9,10,12 MSU-20

Specifications /4F&/ A/ AL B

Spec M Order  Chucksize Thru-holeDia Gripping Force Gripping Dia T2t Weight  Maxmrmisible sied
NO. Heold usH oty External (@) Internal (@) B  HIMEEHES
ModeRiA! eH#HsE  mm mm kaf MAX.mm  MN.mm  MAX.mm  MN.mm kg rp.mimin)
MSU-7 01507E 190 55 3600 180 4 62 170 13 3500
MSU-9 01509E 232 70 3900 220 5 70 210 22 2900
MSU-10 01510E 273 85 4500 260 5 80 250 29 2500
MSU- 12 01512E 310 9% 5400 300 10 90 290 38 3200
MSU-20 01520E 500 177 6650 461 45 155 453 156 850
Dimension/R~F/SEE/ A+ E
wogeigy S A B © D E F G H I J K
MSU-7 190 76 172 155 55 11 5 383 3-M10 88 28
MSU-9 232 84 210 190 70 12 6 489 3-M12 100 315
MSU- 10 273 87 250 230 85 12 6 522 3-M12 110 35
MSU- 12 310 % 285 260 9 14 7 528 3-M12 125 40
MSU-20 500 143 235 300 177 19 18 90 6-M20 161 55

CHUCK |37



4-JAW INDEPENDENT CHUCK
OMEFE /4 2 &8 F+ v /4A-E2 BEH

1 < General model It is the general KS and JIS Standard type chuck used to
attach to lathe for general use. To attach it to lathe a additional adapter is
needed. 2 - High Quality & Long Durability Internal stress and deformation
have been precluded by using high quality cast body. The major parts are made
of heat-treated alloy steel, and good durability has been achieved due to
extended abrasion resistance and improved quality. Also, strongpower and big
jaw width enhance the safety. 3 - Compatibility Uniformity in quality and the
exact size management make the exchange of major parts possible. 4 « Parts
A fastening handle and mounting screws are included as standard parts.

5 « Customization For thelarge scale over 40", customized manufacturing is
available.

1. ERL : KAEHGKSHISINE, T RATERAENERE. S5ERERN, F
EiEERE=. 2. R #ANeK  tFEEARASREHHH, Bit ThH
LFAMNFANTE. HEftHRAZST I EN M, RILBERES WE
R BRGSO, HLFECBEEAMEENNEANFN RRHGREFE.
3. Bl TRES— SR, ROWEH REFENIZRT AR,

4 - B - BEUHE B EBRMF RS, S - TRRTH AR T40°H, TR

RBEFHERITHL
1- By MmEr)IN2-BRE RS - Bt 4. BT 5 s~ L3
H-k'2

1-7h8 ot 39 2. 2ZF 21 $H 3. 584 4. 824Z 5. FEMH2

Specifications /HF& /AR ALY E

Spec.Atef Order NO. Chuck size Thru-holeDia  Gripping Force  Max Gripping Dia Weight Max permissible speed

oru s =IES HE ot A Cihor 53 524 884

Model3l Al mm mm kof mm kg r.om(min™)
3 MI-6 00706 150 40 600 140 6.1 1600
MI-8 00708 200 50 1000 185 14.8 1600
r< MI-10 00710 250 55 1400 220 21 1600
> MI-12 00712 300 65 1600 265 295 1400
E Mi-14 00714 350 75 1700 310 40 1400
> MI-16 00716 400 9 2000 360 56.5 1200
~ MI-18 00718 450 100 2000 405 70 1200
(:E MI-20 00720 500 110 2200 450 90 900
C MI-24 00724 600 120 2300 550 150 900
Q MI-28 00728 710 140 2350 650 220 700
MI-32 00732 813 140 2400 755 270 600

MI-40 00740 1000 190 3100 910 550 500




Outward Drawing/4} EUER/ARIEY @ & =

oA

1
& S
i—_!_llgj—c
|
—15 .
|
L

Dimension/R~/J#F/ A+

Mod e84} lene

MI-6

MI-8

MI-10
MI-12
MI-14
MI-16
MI-18
MI-20
MI-24
MI-28
MI-32
MI-40

A
150
200
250
300
350
400
450
500
600
710
813

1000

B

60
75
80
90
90
100
105
110
120
120
120
175

C

130
175
150
170
190
210
230
250
300
350
400
460

D
115
155
125
140
160
180
200
220
260
300
350
510

E
40
50
55
65
75
90
100
110
120
140
140
190

N
3

- oo OO W W

25
30
35
40
45
50
55
60
70
70
70
88

|
4-M10
4-M12
4-M12
4-M12
4-M12
4-M16
4-M16
4-M16
4-M20
8-M20X2.5
8-M20X2.5
6-M24X3.0

55

75

90

100
110
120
130
140
160
180
180
196

25
30
30
35
35
40
40
45
50
50
50
5

0 0 0o o o O

MONHD IVNINVIN - 9

CHUCK |39



SPECIAL CHUCK )

o

MNINHD 1VIDIdS

FINGER CHUCK

i . ——
(E-\ pmmm—— A

\ - Y,

FINGER CHUCK

i P
[ A AP NG

\_ ] J

HYDRAULIC DOUBLE PISTON CYLINDER

s
0

La l 8

\ - ok y,

COLLET & FINGER FIXTURE

| @« SR .=

A

\ 1 — 3 )

40 | www _.seoam kr



DRAW DOWN CHUCK & CENTERING

Work : Pistion

OUTSIDE PIN ARBOR CHUCK

Work : Pinion gear

N SN

wn
Z
m
o)
>
=
0
T
c
o)
=

CHUCK | 41



INSIDE PIN ARBOR CHUCK

Work : Pully

\_ ¢ J

RUBBER COLLET CHUCK

Work : Motor Rotor ASS’Y

o

(%)
~
m
Q
>
-
a)
T
c
la)
=

42 | www _seoam kr



FINGER & COLLET CHUCK

Work : Driving gear

DIAPHRAGM CHUCK

Work : Cup planet carrier

N SN

FINGER & COLLET CHUCK (AIR CHUCK)

Work : AL-Wheel

(%)
2
m
o
>
=
0
T
c
o)
=

CHUCK |43



ECCENTRIC & COLLET CHUCK

—
R b=

S=mt | P e e e = i
(== e | 1 il - 1

WEDGE BAR CHUCK

o

LEVER CHUCK

(%)
2
m
Q
>
=
a)
T
c
la)
=

il TN
a [ T.-4'\
< 3
LT
: gaN
! L e Ll \
L —— /
% | = 590

. J

44 | www .seoam kr



WEDGE BAR CHUCK

Work : Crank shaft

SPINDLE & COLLET CHUCK

4

SPECIAL CHUCK

STATIONARY CHUCK

Work : Brake cam shaft

CHUCK | 45



COMPENSATING CHUCK
AR R AR CHRERT v v 2 /24 24

1 - Center Hole Base Itis optimal when clamping outer dameter of long materials based on center hole.
2 - Self-Centering Even when clamping face is unequal or eccentric, strong and accurate chucking is

ensured by automatically centering 3 jaws based on center hole. (It is easy to chuck workpieces with unegual
outer diameter such as cast and forged parts.) 3 - Compensation of Centrifugal Force Considering effect

of centrifugal force acting on jaws, balance equipment is builtin so that it maintains high gripping force.
4 - Strong Gripping With built-in face driver, C56M performs the entire machining without inverting the

workpiece, so that set-up time is sharply shortented. Whie C55M chuck is pulled to the center shaft and
aripped fimly, itis optimal for making long bar workpieces.

1 FEEATL : HFAESTEEFEPOLMKIS. 2+ AP0 DEEEZMAHIGETEL, =5 T tkLle b
oA, BEP0 i TTAHTZRE, B, FAKEES. ESIIEAHRNTIHES, IEHRRETH) 3: 18
Af) EREEREFNENEOHIEE, RFERETHEE RRHEEERE. 4. BANEES | CooMFANENHE
B, TAMENITH, Dol T, Rl THNIERASE e MFRaEENT THMP 04, AEERESE
£ RitHFcr ITH e L.

1.ty &-%- | B%¥ 2. BBRC 3-BOHHE 4-4CE

1. ME & 71F 2. XSSARE 3.UNH BA 4. 22 gt

QUICK CHANGE CHUCK
BER/ 449 AF v U F v v 4 /2 HM X H

1 - Quick Change Quick change of top jaws is possible because exchange, location change and reverse

ofthe jaw are all achieved only with 180 ° one-touchrotation of the master jaw eccentric cam.
2 - Excellent Repetition As clamping accuracy is not changed even when reattaching jaws, it is not

necessary to reform jaws.

1« Wil T TREPF MM TS, U0 EFiee (AT R A F R 01 80" EVTISCHL, BB TRE.
2. EEEMEES  EEHEERN LUHEREEE BIABEERN.

1. A3 2B gL

1-Ma8 @Y 2. w2y 22

LONG STROKE CHUCK
KgE&/n 42 a-49Fv v9/8E AERT X

1 - Long Stroke It is a wedge—-hook type chuck with large jaw stroke, and easy to clamp workpieces with
wide work scope and large deviation of outer dameter. 2 < Excellent Compatibility It is possible to
directly be attached to A-type spindle nose with separated standard adapter. 3+ C22M 3JAW TYPE,
C24M - 2JAWTYPE

1. K712 (E2—BKRTE ABEFNFE, BTEEARTHRNGREANTY. 2 #5158  FETENTE
EEFZERNAR T sEEE 3 cooM =&, coam: FTE
1.ovszto-4 2. 8nh:E04 1.2 AE23 2.58M 24

WA= NFE/Z8F v v 9/CH7IS X

1 - Various Clamping Functions of 2-jaw chuck for irreguiar materials and 3-jae chuck for original
materials are combined together. 2 + Multiple Utilites It uses standard soft jaws and it is a big bore
power chuck to machining long bars.

1. S5%E  GETRNFETAANIHEEN= MFEHEE THERNNS. 2+ BB 2 LFEEEHN
2, BRITENYTREERT L.

1. 241308 2- 2BNHEE 1.crs ot 2- 188 8

2 & 3 JAW CHUCK ]

]

STATIONARY CHUCK
BEFE/ETEHENF rv 9/01HE X

1 - Station-type Mounting It is a stationary chuck used for driling machine, milling mac hine and
various jigs and is possible to use both hydraulic pressure and pneumatic pressure. 2 - Diverse
Features C10D chuck, 3-jaw type, due to low height from attachment side, has an extensive scope of
work and is used for general purposes. C24D chuck, 2-jaw type, can accuately determine locations
regardess of clamping deviations of irregular workpieces. C10D chuck, 3-jaw type, is a big bore power
chuck and easy to machinelong bar workpieces and to discharge chips.

1. BRHEYE : LHETREELR, BRURSHEERE L BARERSIHAIEHAR. 2. S34HIE: c10D
SNFE BT RAVSERE BREATEENEES, AR 2. C2OMN+E | REANIHERERE, K8
hERERREN. CIOZMFE | RFERRBIHNFE GRS BRERIE.

1-BEREE 20 24 1.3284 38 2.8 53

46 | www .seoam kr



— = SEOUL
- - se€OAM
In-Cheon O R he

F
%]
3

al

3

=

=2

_‘.g

§

&) BT

Seoul - Gwan glu S0minute
Seoul - Mokpo S6minute
Seoul - Muan B5minute
()
- Gwanglu -Seoul 160minuke
Songungt - Seoul 170minute
Songungt - Mokpo 3ominute
Gwan glu - Seoul 210minute
Gwan glu - Pusan 210minute
GwangJu - Daedeon 110minute




SEOAM

A7 A B R T=AL 2| AL
SEOAM MACHINERY INDUSTRY CO.,LTD.

www.seoam.kr

HEAD OFFICE | 127-15Hanam Industrial Complex,8th Road (Ancheong dong), Gwangsan gu, Gwangju, Korea 506258

2AL - BE| (®506-258 FFHHA HMT AAHE 8HZ SHEZ T 12715

At - T4 | @ 506-258 JWESET HIUR B ¢ HE TRLESY 127-15

TEL. +82 62 960 5000 FAX. +82 62 951 9981

E—mail. master@smiltd.c o.kr

8l L =13 = | [401] INVOAS-L ON LVO

=
=)

bolels SRS K

3]
£

e

7

il

30

ahg

0L0,°€59°290 SA A paubiseg



